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alcuellgard obs ool gapreprs sHeUUED. 2 proamors dhser (B} adwang sflumean
oL wras smpHame g Neeumory efsss ari Cadn@bn.
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1. déraupbd sabpmeer s ddler CiaTeis :

L ugel uteopsehés Blassy Beg eOlulll oeta sLssd g
Siled o_elerg.

I s UTOPSEHEE tf,\eog,gq By P L senadpe sLpgid e

GIMDEUTS 2 _eTeTg.

M. e @ordu LTapsense Hossy Bog GOUILL ey sLSSID st
figwr e o _cengy.
IV. urepseflér geramvew Qurpds . @m&.g@ Bt @il Syerey
SLSGIoUG HeoLwrg. |

Bleubpetr
A Tolpo sflurerg ‘ B) Iwbhpibd I eflureteneu

C) L Il wpgo I mﬂu.l_rreurmm | D) seardgid sfluretanea.
Consider the following ‘statements : |
1. Specific conduc‘tance of groundwater s high in sedimentary ‘terram
11.  Specific conductance of groundwater is low in igneous terrain

HI. Specific conductance of groundwater is moderate in metamorphic

terrain

IV. Specific conductance of groundwater is not related to nature of

rocks.
Of these statements :

A) I alone is correct B) 1Iand Il are correct

C) I, IT and IIl are correct D) all are correct.,
- [re92] [1s04] | | [ Turn over
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2. dpssramid aunsdlubiserer seue
sy (A) hasaflaou Qeuly adsed Curg Quprdvsdamul whpd Feyhs
Spfteopid &resoTiLBEng.

sryesond (R):  HessNifle Qeseb eyl ffldr weraflaedic Quryrrem gLl
whyo séyfls Syflewrs Hangeuar. Hpgi.

Epsargmd GOl ge sflurar alleemw Carpg® :

A)  (A) wHpd R) QySwHd g M), Cueub (R) srettug (A) e sfurer elenéaid
B) (A) wibpd (R Gueo@b i, Gmgum (R} eretrug; (A) efibe sfluren aflenssiwden
C) (A sfl yyeréd (R) geup

D). (A) goupy emer (R) &,

Consider the following statements :

Assertion (A) During processing of coal deposits ferrous sulphate an;
sulphuric acid are often found

Reason (R): Pyrite present in coal decomposes to ferrous sulphate anc
‘sulphuric acid in the presence of water.

Now select your answer according to the coding scheme given below :

A) Both {A) and (R} are true and (R} is the correct explanation of (A}

B) Both (A) and (R} are true, but (R} is not the correct explanation of (A}
C) (A)is true, but (R} is false

D} (A} is false, but (R} is true.

3. afgpé.a,su'amcuﬁ)@sﬁ sflurs QUIESSULL LG &g ?

A} Quriiméluib — 24T 5Bl Geveiv

B) wseafHud — SMeeaL '
- C)  srédlud — SiLusmL_L

D} @by ' — CuhereneL..

Which one of the following is correctly matched ?

A) Potassium — Orthoclase

B) Magnesium — Calcite

C) Calcium —_ . Apatite

D) Iron — Magnesite.

18000
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pretg Crtbleér swefllad Hlagsy Ffe o dierg. semes ffld 2 eher amqa.aﬂ-dr
 SgliuenL e @phe auflmadi QB : |
A}l Guriirdlub, whefflub, sréofud, Gemgwbd
B) @smguwi, esrre‘oﬂnutb. wéet Hwld, Gum L rduid
| C) é&est b, G&frqwfﬁ, &médlwd, Gurl LrHwib
b) _ s;rrs‘ueﬂu.ub. G&I’I‘I.q.u.llb,QLJI'I'I.‘),@..I‘I’&]UJL;D,.LDG',GO‘F&]UJI:D.
‘; We serve four cations in groundwater. Arrange them in deéreasing érder of
_abundance : ‘
‘A) Potassium, magnesium, calciﬁm. sodium
‘B)  Sodiurm, calcium, magnesium, potassium
: C) _Ma_gﬁcsium. sodium, calcium, potassium
D) Calcium, sodium, pdtassium. magnesium.
5. Qeoé@q. iiflebr ;ﬂqurmm Begsy Bfldr saps 2.0oul QuTEsHnssb
A @Camey® 100 gm/L Cud @e;aﬁgq e @@§§K§1 2 Iy SeTanweny
| QETR&EGD
E]' op Gy 100 gm/L Gue Hepsy Fifld Giebare sslurar paramnau SEHb
C] GQurlLréud o (uSssawanu Glodsg rf,’@é.@ Qem@é,@fn
D) gevBul 500 gm/L Gué Blawssy fifle @@;bg,rra: selny gTomwan Qerhaeb.
Salty taste of groundwater is due to
A) | chloride in excess of 100 gm/L causes a salty taste
B; | water containing nitrate more than 100 gm/L is Bifter taste
C}  potassium imparts salty taste to groundwater' |
D) r water containing sulphate above 500 gm/L imparts bitte;' taste.
SR - ~ ['Tum over
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6. Vetaumd sapmsenet &euat e Qa,rreﬁe»

I fPegsy pldr aug depdar Cud _sren ﬁrﬂm auweng il Siflab.

II. Gurgg B mpgﬂdu Ss@Gh Hleospgss G\&eoguu: ﬁrt S TFTHES Qpaﬂ@
&g,cﬁ'gsm TN ()

0. wepurd Hegsy BT Wamn G&ﬁ&&uu@&m@
V. dlegss B appre QeueflGubpiuGAps.

@eubget :
A)  To @b sflurergy B} Iwpgd I sflurereameu
C) I Nwpgid M sfureranc D) swabgd sfuraiee,

Consider the following statements ;
1 The age of ‘groundwater is older than surface water

II.  The annual replacement rate of groundwater amounts only three
per cent of total water circulation

IIi. The groundwater is recharged by precipitation

IV. The groundwater is discharged in the form of spring.

Of these statements :

-

A) I alone is correct B) I and Il are correct
C) L 1l andll are correct D) all are correct.

7.  dpsecdo_aubper sflure QuIGSsULLL G ergl

A} Lrtdlen sk — CGraé bt GETRIEGD S8
B)  @uashy BT (LD | — &eﬂwm |
C) @@r&l&rfstﬂ BT LD — Quilu geuryhser
D) fyrhpens sLbgid Qb — Aidlw gieumyhiseh.
Which one of the following is correctly matched ?
.A) Darcy's law § Reyﬁolds number is less than one
B)  Turbulent flow — Clay
C) Laminar flow . - —_ Large pores
D}  Low hydraulic coﬁdﬁctivity — Small pores.

ey [0
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PGEO

Fipbseior euppeh &rﬂt_u;m G;erggguuﬁl_ig) T ?
-A) @,pg;.a')ﬁlméo (picdor giemen Glucoy —. @qcﬁurl__rrl.brﬂmm glenen 56l
) ( glouryhisel )
B) @peerd fleve _@dé:gmsﬂ Gueny — @5@@@6\: émm&sﬁ ( gleunhisen )
C  Qeudaring ,@édurgmm @tuéaq — un@puﬁle&r.gamrrqﬁé@&@
' uwmpuﬂeﬁrg@ﬁn qmaﬁ]rj)@fn a_efren
aftdlen o '
D) @quﬂmpé,@bipnm gmsﬁasﬁ — @'Lqé@&rfsfr@lb eSlerswres @it
' 2_eieng.
Which one of the following is correctly matched ?
A)  Primary porosity — Secondary interstices
B) Se(;ondary porosity - —  Original interstices’
C) Effective porosity | — Ratio 6f to interstices total volume of rock
D)  Supercapillary lnteﬁsmes —  Water is held by adhesive forces.
9. utud Igp uﬁqmé} I a_.l_a'sr Qurmad, &G .Qéw@séuu};@&m A@ﬂuﬁ’@émm&
Qaran® sflurer el aug CatbOs®
Ui I ulgué I

al  Gylgé vy : 1. asr;r,b('.?‘mmi;_i: UGS

b} euGLmew ;5!%'. 2. ﬁrr Qeflan ued

¢ ofigdlu B 3. oyliep Gpruss ugd

d) V@Lq.@a»}:p @i B 4 Guodvedlw FybLILThg L.
offpest: -

a b c d
A) 1 2 3 4
B 1 2 4 3
C) 4 3 2 1
D} 2 1 4 3.

18000 | | Turn over |
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Match List 1 correctly with List II and select your answer"using the codes given

below :
a)

)

c)

d)
Codes :
a
a1
B) 1
c) 4
D 2

List I

Phreatic surface

Vadose water
Hygroscopic water
Capillary water

W N N

1

N W0

4

- W e oA

3.

howobo=

List II

Zone of aeration |

Zone of saturation

Capillary zone

Thin film of moisture.

10, ulguwéd Igp ulgud e dér Quresdl, 6 Qar@asiulster GUDsmenés

Qeram® sflurer alloLous Caibsd :

uCigwés X

urenpuL-es1 Cgmebiiu it

gOameney i

yeerGLralié it

erflweney wBit

= N W N

L
b}
c)
dj
el ser :
a
A) 1
B 1
Cj
D) 4

Wl Wn

WO s bR

uliguée b

1. eés mado gemen Bt

2. sfls spsdlé 2 den
uTenp Gplbusefes Bir

3. umenp @jplbysefler ydlu Bir
I TR (AT
LlCIGREA

4. g pllders LTenp
Gpioysefles Bit.
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‘Match List I correctly with List IT and select your answer using the codes given

- Ebelow :

List 1 . .- Listn
. a} Connate water 1. Fosslil interstitial water
. b) Juvenile water 2. Magmatic water from great depth
| ¢) Plutonic water 3. New water of magmatic of cosrrﬁc origin
_ d}' Volcanic watef 4. Magmatic water from shallow depth.
jCodes_,
, a b c d
A1 2 3 4
‘B 1 3 2 4
0 3 2 '3 2
4 4 3

D} 4
Lndu@&rrmml'_ @baT e sHafinh Qpdoagrfle apsl urapiie deLsddpg ?
A)  Slevl B) emen

C) dgrevei D) QUL .

The muscovite mica deposit of Nellore occurs in which of the following host

Ii'()CkS ?
‘l&) - Schists B} Gneisses *
C) = Granite D) Pegmatte.
2. (Igl_lsb)l)'l'_ LG yseT ahsll urenpsefle HenLsdletper 2
| Al @eQem Gl ast B) Qeubueiefl &atembyébaés
(il) S gmuspditl Gac D) Carebprer Ced.
‘Baxyte deposits occur in
A) | Guicheru qﬁartzltes ‘ B) ngpalle lﬁnestones
C) | Tadpatri shales D}- Kolamnala shales.
E] { Turn over



13.

14.

15.

16.

PGEO ‘ 10

sLiur QuEbLTPURSGEet WE ahal UToDURESSsT Lghgeierer 2
4A) INGsblifwen GuevGioesti B} aipTe Qared

C) sreridé Ggrgd D) uésé Qered.

The Cuddapah supergroup of rocks tare overlain by

A}  Precambrian basement ‘ B)  Kummool group

< Kaladgi group D) Pakhal group.

gsmieur urempsaer ol dlawrs 2 wHHHfyDD LTepseT
a) @Qemmevul dyreme. B)  uet Gl empe
C) affgat Slevl - D) Qeuppeh egiopdldame.

The rocks which shows a relatively higher degree of metamorphism than the
Dharwar is

A) Closepet granite B) Fundamental gneiss
C)  Sargur schist D) None of these.

GThS BETOMET CUDETE BTG SbOTema’, o L Ggh urepuhbdlde o eier
wéhdlunrer QpragliCirsshsnens 2 sreres ?

A) wGaseul whpid Lfleval B) LAeoa’ whpd eoarCerélyen
C) sw«Csrdyey wppid vGae. D)  Gloveu Seranggid.

The uﬁcolled ammonite characteristics of Uttattur formations are

A)  scaphites and turrilites B) turrilites and anisoceras

C) | anisoceras and scaphites | D) all of these.

wbeullé 2 dier QLésGTE LsTolgE Sgssditalss mab sardlyss aug

eTesTenT 7

A) 30 - 40 Hevedwest umL.hs 6T B) 60 - 65 Béedlwelr aumLusel
C) 50 - 55 Blevelwes eumLbiser D) @eupgetr ergieyblcvemne., |
The radiometric age of the Deccan basalt that flows from Mumbai is

A) 30 - 40 million years B) 60 - 65 million years

C) 50 - 55 million years D) none of these.
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17. Quéarer gyroudler fé aaiu@d gammburep ersunm, uedlie widulyCsesdd
| Thes STAL UTED SHPsGSMG Sobgsteng 7 | '
A) & Caram@eureonm B) Gué Garesr@eurerT
< srOrmélé: A | D) - @eubyyelr aé;m*.&s\:meu.
Sills of the Deccan traps which are noted in Sati)ura area of Madhya Pradesh are
present in
A)  lower Gondwana formations B) upper Gondwana formations
. C)  Jurassic formations D} none of these.
18. é]@gqenﬂmshi—#@u..lr.'éle&r ahmas Garlygd GBssed Hosd HNGLHuev
QpréenliOysen 6y 7 H
A gyifomin ev Sgwr B) sriecor G’gga‘saf‘)aﬂ@rgfrile
C) dCGyrever Caoell griumivev D)  @eubper ergieybfidene.
The index .fossil of Cretaceous-Eocene boundary which occur in Trichy
Cretaceous formations is
A) Orbitoides media B) Cardita jaquinott
b) Siderolites calcltrapoides D) none of these.
19. QL efwedn s;rrasﬁ.ﬂe'n Bbdus gereaors s pdlar GO Rs CpraaiiGirssd
4) Oeenygeanr Bl Gyryesn |
C)  amiwelLr Slywreibng D) guuig@elerr.
The index fossil of Danian on the Indian subcontinent is
A}  Lenticulina B) Robulus
-C) Cardita beaumont{ b) | Operculina.
: @ | { Turn over
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20. 2 w;apdflybo urrmg)-ssdﬂe'o apHe  whHEIo seoL & U &SN  ceeeeeeeeen..n....

21,

22.

2 galllenmés aor@GUlgbe Guguib.
A) syl UBes B} 4#GrCL( upes
C) eapcor’ AuSer upens D) @ SeneadHgid.

In the case of deformed rocks the top and bottom of beds are determined with
the help of

A)  current bedding B) . graded bedding
C)  current ripple marks D) all of these.

Caupur® uvLmsefléd o LQurdlsslu@b yuyardlCusdat @RWH Néreumd mHriD
aefllvhsellar QUTSHSLTED

A earrls, syeeul., QmOeedr, si@miang

Bl  @anile, Héoeu, Qpllddr, grasl, sraflael

C) @auriis, deul, ertansl, o F5CaTHCoha

D) ewugredleanasar, geflaler.

Differentiation index used in variation diagram is the sum of normative
A)  quartz, albite, nepheline and anorthite

B} quartz, élblte. nepheline, leucite and kalsilite

C) quartz, a_ibite, anorthite andyorthoclase

D) pyroxene and olivine.

adliveon uflaomo suariéd apg Syricoal.Lréd GOUILLUQH&DE
A gQeaGardlgriiey B) doaulsrdgriLey
C) eLéplamdlymilev - D)  @eupguer ergapflcvenen.
A graptolite showing the reversal of evolutionary trend is

A)  Dicellograptus B) Climacograptus

C)  Dicranograptus v D} none of these.
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A) e HUT D B}

C)  aply Ged - D)

23. AyruCLroel e ahsl utapads sflswres sremiL@dmpe 1

sevoTenTT b0 Urenp

@eubpielr ergiayblevene.

" Graﬁtolltes are most common and abundant in

sandstone B)

-V
'O blackshales © D)

limestone -

none of these.

24. georGammeulgé QE(H eSS PRUTE SHULGHE@LS sugu Slerruaralpe

" gredTesT Qw2
A) dlgeflgqub B)

C)  Lueamft D)

Greut_qb

@eubuet ergiayblevanes.

!The two fixed cheeks together with the glabella in trilobites constitute the

. A) Cranidium B)

,C)  Doublure D)

%

Garadhug
A} Guiibwes . B)
C) HAGL aflwev | D)

~ Shells with ammonite suture appear first in
I

. A) Permian B)
C) Cretaceous D)

26. suflqureler srebd erg ?

A wGurélen B)
C) @eﬂ(ﬁ&,né}s&i D)
Thc age of Cypridea is
A)  Miocene B)
C) Oligocene D}
o601

b

Rostrum

none of these.

© 25. @ﬁn@mn‘@@ﬁ_ ghasfls QBEeL wsud Curdip emwiny siGuTE ng,m pseiics

g Geuim eaflusedt
@leuppyelr ergieyblcvenen.

Devonian

none of these.

SleNGuir flesr
WG &le .

Pliocene

Pleistocene.

[ Turn over
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27.

28,

29.

30.

Siflg 2 tures Biflér curpdaaigw CurgbefGuigT

A)  GyrumeSlum .B) g svamriien

C) eadolgud D) @)y Senarpgid.
The brackish water formainifera is

A}  Rotalia _ B} - Discorbis

C)  Elphidium | D) all of these.

afcen Syaud eaHdlmphs mDrGsTORlICTss et Ifleal LuSTLRD 2

A Geé B Qe

C) flessaf D)  @euppst agopfidame.

Schulze's solution is used to separate microfossils from

A) shale ' .B) chert

C) coal D) none of these.

metn Qeraguiiayssbamea NNsGs06e Naad sgawrar afleamea bl
ugeyiiurendiés Gbha edlushe Neétubn CeuamBn ?

A Afdus Csa B)  seflocimad

C) eaneomby Cad D) @eubmet argiapfidvenc.

More rigorous techniques are required to free micrqfossils from

A)  Siliceous shale B) Claystone

C) Calcareous shale D) none of these.

a6 urtepiie euGure L eherd Amilysiy prid semsddio Curg Ndramb
saflod SFlanrEod ‘ ‘

A) QumlLréwud Quésours B) sdeul
C} @euriles D) euutevder.

If biotite is present in the rock, there is an increase in which of the following
minerals in CIPW norm 7. ’

A) Potash feldspar B) Albite

C) Quartz D) Hypersthene.

- [18600]
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&8 urepaailé Setapb Qgér:eméu@ Hedlsm a;é]aarﬂé.@l.b Gur@geveurid g
A} l‘ whefHlud b B) earddlud isad
C} - QuriiLrélub s . D) sgnflefub o samean®.
In general, which of the following oxides shows positive correlation with S10 , in
rock suites ?
A) MgO B} CaO
0 KO0 D) AlLO,.

32. g6 Gurdllal urep dyTael LT 2_eirem u@,ﬂ@hﬂﬂl@@aﬂmne‘u WedHwur gl
gedhotua it '
A)  Cruppid Ni B) Kuwbpb Ba
C) COuwppbd Zn , D) Zruwopgo Sr.
The dolerite dyke intruding granitic country rock is richer in
A) Cr and Ni B) KandBa
€) COandZn | D) Zr and Sr.

33. ﬂs&rm@mdﬁ){ﬂé g aflurs QurEeesiLLalldeme 7 -
A ggeud urydGury ued ugeud 2 amLragr GCenar@ Culls edlgr

Gullé srbluenéen
Bl yelStiy u@sme —  Gewr® srblienée
Cl dlgeud sessTLE GHBESH — @®wby Bé&s uvsrél-
' TGWTemeu

D) urep Gpby seHsd —  sTfUTETELL. SThUETHE.
Which one of the following is is not correctly matched ?
A)  Flow differentiation —  Zoned maﬁc-.l.llltramafic complex
B)  Gravitational differentiate —  Layered complex
C} Liquid immiscibility —  Fe-rich basalt-rhyolite
D) Magma mixing v — Carbonétite complex.

R | : [ Turn over
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35.

Spsaraid eursHutisenen seueh) :

ampm (A : ugod uEGHurl o ELTMug P6EG mEuropseie
e AT, YT -

ergexy (R) : ga&prs @oé&eb ureop  Hrougd  saflvbsgsd  glurer
Sty 2_efremeo.

Epsaramn GHSge shurer efaLau CarbCs® : . |

A) (A wnd (R Guan@n &, Cuab (R) eretugs (A) eﬁl;b@ sflwres aflenéan
B (A lbrj)@Lb (R) @@ e, Guauid (R) ereirug: (A) albe sfluren allendaween
C) (A)sfl geméy (R) geugy

D) (A poup e (R) efl.

Consider the following étatements :

Assertion (A) :  Crystal fractionation is common in layered intrusions.

Reason (R} : The coexisting liquid and mineral have similar densities.

Now select your answer according to the coding scheme given befow :

A} Both (A} and (R} are true and (R is the correct explanation of (A)

B}  Both {A) and (R) are true, but (R) is not the correct explénatjoh of (A}

" C)  (A)is true, but (R) is faise

D) (A is false, but (R} is true.

u@F LG &sLTSS s pes

A) @sflphd ofpb Geusmorgn Curg

Bl @sfiEo aisb G\w@mrré;e‘u

C) SwdHsed sswregd Gurg

D) syelures enquencuse sglswreh Gurs.

Fractional crystallisation takes place when the

A)  rate of cooling is fast B) rate of cooling is slow

C)  pressure is high D) volatiles are in excess.

[1s04] [18000 |
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36. 9900.! ass\)},&rrmm sraolu@n Hev b

: A} ‘ge’umuﬁ, .gisurrfrfmg,L,'_eo)Lwrrﬂsm&l;
| .!B) ' Junr‘reip:_smg_s;, el , Sledar

C)  gévenul, e wrlems’, Seder

D) Quueel., greel, edsnr.

Liquid immiscibility is found to occur in the system
A)' Albite — Anorthite — biopside Bi Forsterite — Leucite — Sﬂiéa
C)  Albite — Diopgide — Sitica D) Fayalite — Leucite — Silica.
37. ﬁa al‘é]&,mrrsu'r.a@ésgééle’u LTELS LTeD@PoL LG &ION S@&D §wﬂmﬁs&eﬁ
'A) evlleer wppi HemerGeorr @uqrrésﬂs&r ' |
- B SlevenGeon smuqrré,eﬂg&r-msj)gu.b &.n'ﬁ'smL
0 i@ eouymrédlest hmd @Gmgﬂ@m.rr SCona
D). 2 Sl @@@m srédlud Sgbs ICaglGurr HCevs .
: Under very high' pressure basaltic magma crystallises
. A) spinel and cllnopyroxene - B) c-linopyroxene and garmet
Q) ortﬁopyi‘oxene and plagioclase D). oliving_and calcic plagioclase.
38. ueue EANTETY Lﬂshcu@m@ﬁu@ﬁ]@ gflwren Ly |
Al goliGurd, g o NCagiCurdliGas, K-Queasurt, enuGuren.

B) sradud JNCegflCurdiCus, oubfiGured, siessl SIGagiCurdiGaws,

eouGurent_L”

0 wsefHud ougrevdle, S oad sradlud NCagGur fAGas, bllGure,

K-Gludogumi

f)) gfmjl(?surm'\:. gasel, areadflun NCafCurdCGes, LGUTELL, 2|, 608l
NCaellCur fIGaa:.

II”ZJ . - [ Turn over
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Which is the correct sequence of crystallisatioh in Bowen's reaction principle ?

A)

B)

C)

D)

Amphibole — alkall plagioclase — K-feldspar — biotite

- Calcic sodic plagioclase — amphibole — sodic plagioclase — biotite

Mg-pyroxene — alkali-calcic plagioclase — amphibole — K-feldépar

- Amphibole — alkali-calcic plagioclase — biotite — alkali plagioclase.

39. ereumid eursdlumseiid géoenul., STl , eLwrlensl. faviblé SeupT@D

A)

B)

C)

D)

NGl GurflGeave, mLwriemsl sHamsamaet G aaomasGar® Niflsfipg

Somul whpd eLwurimed sofllvbsd aGproirdiy GCafbg

Ll ST &l ST et

' 15% e wriwe® 85% NCadiCur HGeae ( %du/a_isom ) Gsﬁé\mé\: Fal_ReoLw

lyeuld 1375° C SieoLud Curgl LgsD 2 GuTHDg

15% es_wriene® 85% WCagiCur HGaea ( /s ) Cauflud sl Genw

lreib g swTaiems 1216° C & wysbdpg.

Which one of the following statements is not correct for the system Albite-

Anorthite-Diopside ?

A)
B)

C)

D)

Boundary curve separates the fields of plagioclase and diopside
Albite and didpslde have eutectic relationship

The liquid with 15% diopside and 85% plagioclase ( Ab, An } first

| crystallises at 1375°C

A liquid with 15% diopside and 85% plagloclase ( Ab, An ) completes
crystallisation at 1216°C. -

|



19 ' ~ PGEO

40. Ga,rrafm@sﬁrrmtr Qargdeu Gyan® Gfare SMggeut 2

A)  umev@sr ' - ' B) C.S. uréev
C) Ouldlsr D) Jeul Guerev.

Two-fold classification of Gondwana was proposed by

A} . Pascoe B) . C.S. Fox
. C) Meddlicott D) Feistmantle.
‘41.. Aeneu@areupget argl sflure Qurepdyetersg 2
A} gt Esenevi | — é\ﬁ;gryt‘ngsﬁn
B) eevenenl L — . Qadler gmwen wene
C) SritLenemanL L —_ smevd GeBIRIS 6T
D) Qe | — flanoenen.
. Which one of the foﬁoudng is correctly matched ?
| A} Anorthosite | : - Sittam Pundi
B) | Syenite —_ St. Thomas Mount
.C) Carbonatite —_ Chalk hills
D}  Dunite — Stvamalai.
42. shsOeET  UTED&ST &poaHTgd @;a»goa,aﬂe'u gCagd o wosdlé
o GBeursalldame. SiF g ?
. A)  setremmibyl Lrenpuilest Seolu 2 (HGSHN
B  ureops @pbulé e der srygder LTRULL searsdleanme 2 Garsed
C)  usmegs LTERDSEGPDL], FTSHIT]ERT LIS SLOT & ES 68T T QUM LITG) 2_(Heur He
D) eury wrpur® whpe el gevestiD. )
| ‘ { Turn over
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The alkaline rocks are not formed b& which one of the following mechanisms ?
A) Assimilation of limestone i
B) Differential movement of alkalis tn; the magma
C)  Simple crystallisation differentiation of basaltic magma
D) Gaseous transfer and thermodiffusion.
43. fsar Hepoypr Eyeukiser o GUT@GD HITERRSET
A)  sifls Qeun 2 Ead LHRID GOPUWSHS 2-BSHS
B)  eifls Swss whpid SHOOL 2 BE
C) sfls Yo 2 B&® LHNID Geop Geulu 2 Hee
D) @opuipss Gepoleuliu o HHc.
Silica undersaturated liquids are formed under the conditions of
A) higher degrees of melting and low pressure c;f melting
B) high pressure and high degrees of meltlﬁg
C) high pressure of melting and low degrees of melting
D) low pressure and low degrees of melting.
44. grgryeonors, Qeug Siflewrs iflu s gaflvisamer QaTaoerer LTED&HEGPIDY
A} smiuGenren . B) aprievutens ®
C) dlburerel @ D} Geuteugeorl@.

Magma that commonly has anomalously high contents of various exotic

incompatible elements is
A} Carbonatite B) Harzburgite

C} Kimberlite D) Wébsterite.

3
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;iqaﬂ(‘o’m@mm'__qe‘u Sle siflewnrs sremiu@d Hemtdsoel utap uams Cugub
whsere mm&ﬁu@ﬁ@gsﬁle‘o SIGTEILITE UDESLTE mmasﬂu_@ﬁg,ﬂu&i_ urenp ?
4)  wpp efoee urapsdid srammuL@d SerTtésame® m@@mﬁ:&dr'
iEB.) QuUEhS L6 Bleragsgiou St HaameL Dol '
E) 2H&@ cuens I HHens_[Hseh
D) | Cuéldol) cuens eomitdgens Do,
: The most abundant variety of anorthosite in the earth's crust, which is earlier
- classified as Adirondack type. is ‘called
A)  anorthosite inclusions in other igneous rocks
B) anorthosites of oceanic setting
-C)  layered type anorthosite
D) massif type anorthosite.
46. g llaferNCergiGurfiGetev Hanphs urenp suenasulssr Quwt.
A): l @mm‘rg‘r,gmai Gaﬂ@qrr B) Gaupmllé enitdgenel
o)) GarGym | D) LCCyrsCLmrensl.
The rock types which are richer in oltvine-plagioclase are known as
A)  Anorthositic gabbro B)  Gabbroic anorthosite
€) ' Gabbro D) Troctolite.
47. g;ﬂafsisr Govery Gusmen el Quust.
A grélenL - B) Q_rbtho%nﬁlsﬂmwn_‘_
C) GurBmremen < D) Qudblemgl..
Ohv;ne-ﬁec basanite is called as
A) 5 Leucitte ) B) Nephelh“ﬂte
‘ Ci Phonolite D}  Tephrite,
. | | [ Turn over
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48,

49,

50.

urureoygd guurepaeflds matmanflu ugasellar seflvhsd pETHaeh Gen

cuent§&lyL_edr SFemtiLL Lmér Sygett Gt
A)  dgrefri@ , B) dlgrGerrsoemur
C) dyrgueme . D) Agrds dgreveni.

Porphyritic igneous rock in which the ground mass minerals are
micrographically intergrown is called
A)  Granitoid B]‘ Granophyre

C) Granulite D) Graphic granite.

UICen gl Guir SiGemeiv wHHD gmqﬁe&rﬂafa&rf. 2 anLw erflena) Lirenp

A) gyengensl B) GLensl

C) Geert. : D) L GrensL.

A volcanic rock containing plagioclase and hornblende is called
A) Andesite . | . B} Dacite

C) Latite . " D) Trachyte.

ahs urTeopsGpby, afvoasGpby g dselidar Qurgy o udquenen

2 (HeuTHGH DG
A) s " B)  SHluedls
‘C] Gusblls | D) L grudels.

Which type of magma is more likely to produce obsidian in a lava flow eruption ? -

A) Alkaline _ B)  Felsic

C)  Mafic | D) Ultramafic.

. [19000]
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51. umbesr 2401 erwitgpeiey g s .ggi,lésemdu STETLIG)
_ A) ] pCerr @égwqué SN eI eyE 6T
B) gCeurdlut
C) OuwerGLri
D) Qmﬁ;@m agepbosme.
Point of emergence of optic axes is called
| A)  Isochromatic curve _ B) lsogyre-
C}) Melatope D) . none of these.
52. a&&@&nméol fevi_pdiguel @obed asslarard gealsafld o aier au@lyHeflen
" eretioTemhlgenss g | '
A 5 ' B) 7
o 6 I D) 12
The number of classes in hexagonal division of hexagonal system is
A 5 B 7
o 6 D) 12
53. 4/m 32/m eéirp erifioebT-tom @uleér GOUIE Jeraimd Uy s uELLsfia o e
Al gGsrGuoMé é'!sim..bﬂs&r—&rrgrrgm UGy
B} gGarGuifa Hevgdlen murﬂGerQL_ljé) QL
C) gGsrGu s é\dugﬁélsﬁt QL@ suGly
D) Gy Careanss e Fdletr argmyant su@liLy.
| { Turn over
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The Hermann-Mauguin notation 4/m 32/m belongs to
- A)  normal class of isorhetric systém
B) pyritohedral class of isometric system
C) tetrahedral class of isometric system .
D) normal class of tetragonal system.

54. deéteupbd gmaunsafle gdén  prorells yrpsspssts 2 uCurdlssuu@io
L pdleper aflprg

A (011) ' B (112)
C) (111) D (012).

Which one of the following poles falls outside the circumference of the graduated '
circle used for gnomonic projection ?

A}l (011) . B) (112} "
C  (111) ‘ D) (012).
55. &psargmud aursdluhser saeaf :

sapgy (A) : 5 CurGearfleflafls uu;a@émg, S Cryimelleo Gumd gyiFrgymbis

STE0T SalDEUTD.
srgeod (R) . oo e CorCardeilafls ugagdle a A c 90° g6 @@&&éaaﬁ@m.
Epsargmid P g sfurar aloLow CoiEOsE :
A}] (A} vppid (R) @@ &, Cuaubd (R) eresiug (A) aﬁlﬁ)@ sflurer allendab
ﬁ) (A) maj)m (R) @ bnphd sf, Queub (R} arestug (A) alhe eflurer eflenédawdes
Cl (A efl yerér (R geup

D) (A gaup syore (R) efl.
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b

‘Consider the followmg statements :

Assertion (A) : A crystal of monoclinic systermn may sometimes be tlerr_ned as
pseudo-orthorhombic. (

Réasdn (R} : In some monoclinic crystals a A ¢ may be 90°,

Now select your answer according to the coding scheme given below :

A) | Bpth (A) and (R} are true‘and (R) is the corréct explanation of (A)

B)  Both (A) and (R) are true, but (R} is not the correct explanation of (A)

t
'{

- C) - [A)is true, but (R} is false

D) (A) is false, but (R} is true.

56. Lﬂss;su@m arirnmest -wm@uiledt '.@gﬂuf@a)elﬂs‘u D LHEW FLETUTE seimeg
Gh&fleTpg 7 |
A 1 B 6
é) f 3 D). 1.
Which one 6f the following Hermann-Mauguin notations indicates centre is
present 7
A) . 1 | _ B) 6
0 .;: 3 D 1
57. eaden -sdi oLlrsCur LM Nereumid Qmﬂwr&&mﬂm @aﬂ@ o CamLme
2 LQUTRESS Gnl g 2
A) -l mrrefﬂﬂqsmb B) smblgb
o’ @oby D) Lesea
In X-ray diffractometer which one of the following elements is not used as
anode ?
A) " Molybdenum B}  Copper |
C) “Iron D) Tungsten. .
: L [ Turn over
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58. ouisgmiodlet _an@@tﬂm argmyet eu@liiler efwer-wr@wldr GHSE

59.

60.

61.

A) 4/m2/m2/m B 2/m2/m2/m
C) 2/mm D) .mm 22.
The Hermann-Mauguin notation for normal class of orthorhombic system is

A}l 4/m2/m2/m : B) 2/m2/m2/m

C) 2/mm D) mm 22.

21 7$Csryrbiis Qgmedidles 2 efen ﬁlr;LﬂLq.s;'n ubahise 2 aien auigaub

A) suuss WsHGasTERTD B) OsuGarasr wp&laramod

C) @ swuss W&Garemd D) vGaeiCateucns Wp&Camerib.
The faces of pyramid in orthorhombic system is a/ an

A)  equilateral tangle | B) right angled triangle

C)  isosceles triangle D}  scalene triangle.
fpsadan_apde o awflob .- QL glarard Gigrgdlullé Lgaswragdldae

A  Oeseluamer B} sumildee

Cl SsLT@Lenyl D) OQapweLl.

Which one of the following minerals does not crystallise in tetragonal system ?

A) Vesuvianife B)  Apophyllite

C) Octahedrite . , D)  Hematite.

UL Sbemevud @\erLrllyereny LLD ...... wens seflb Ly SNGTTS
QeuefliLPssuGADE.

A)  GurGairdlefefls B) aﬁﬁégngnmﬂé

Q)  georddiais D) Qe serbab.

Biaxial interference figures are shown by minerals crystallising in
A) monoclinic system B) orthorhombic system

C) triclinic system . D) all of these, -
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62. argrid yosiu sflé admQeul aeard Hlés 2 Oy @apisat  adaump
ngieér@é]&pm ?
4)  Goyud angsrd emoliy
B) | prbyser Gure augsTd el
C) GengoI-L eug &mer Sjemnliy
D) QUaLTR@er agerd Sy,
Sélt domes which may indicate oil flelds are indicated in aerial photos as
A) ! radial drainage B) dendritic drainage
C) ‘braidled draipage ‘D] rectangula} drainage.
63. culr@;'rrfél whpn Ceupemaslardr LuLbiseficd erscng) cgaq@é:@&énsn stor([H Qe etor(
Spacn_ abs patep Husrd 2 |
A)- qﬂc&r@g@tﬁ, LG Q) UTED LIGeubSe
B) .OGmerur'r' SEISID
C) ‘Agresul
D) SefedE.
-~ Demarcation of stratigraphic units on aerial photos and satellite images may
lead to identification of which one of the following ?
A)  Syngenetic sedimentary deposits B)  Placer gold
C) Graphite - " 'D)  Pitch blende.
: " ' | _ [ Turm over
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64.

65.

66.

vopu B ofliysdr whpb SLLQMIUE Heosey Qeraal Guhuriy BHebss
curgitdl yeoaiu sHé &paL et ereubep s Hu 2 sedamer 2

A} shisiD B)  sefloc
C) &z Qyupby wHpd UTsHensl D) s&shasb.

Identification of old erosion and weathered surfaces in aerial photos helps in

exploration of which of the following deposits ?

A) Gold B) Clay

C}]  Residual iron and bauxite D) sulpfxur.

angrid v hsefle sTETUUED WILTET agsHETH Sy &psaorL et
s GNEGD 1

A) sy eILTAT DITHUTED " B)  usmén

C) Jeabd Qurdlew Qupp Gur@mer D}  Coaped ugeihisen.

Coarse drainage texture on aerial photographs may signify

A) compact sandstone _ B) Dbasalt

C)  highly permeable ma;tenal _ D)  shaly formation.

aurgridl yemaluL e OOgwupo ug sl Baet  Guretp  eug B ef
Sesreumeuatsuppiet areng GR&Sener 2

A)  uURses CarLrar LURES suDL_&

B)  #mbeuren weHUTED WHDID Cayev

C) aaoremimiby UTERD

D)  Sevl.

A step-like .topographlc expression 1n aerial photographs indicates

A).  interbedded horizontal sediments B) inclined sandstone and shale

C) limestone D)  schist.

| |
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67. Ka Guam@ Gpurt yesiuLkss app Someaflos Ndaugaaaupps aop

Gerhgemey 2

A 075Qs8 @ 11 QS aveny  B)  1-1 Qeuf pad 1-67 Qs 18 cueny

©C) 1AS e 118 eusry D) 30@&. wpgé 100 Qs .18 cuansy.

Ka band ini radar images is characterised by a wavelength of

'A] 0-75cmto 11 cm B) - 11 cmito 167 cm
C} 1 mmtolm | D) 30cm to 100 cm.
68 'sréllr'r alCr 2 aenr VRHlwer yerelaamen Bmamragd Com@ast ol ks Qareigpb
@D oo 24 G0. .. '
Jf\l) sr@m_rél yerell : B)  @aereon yetef
| C') - mGsr-OgaLi D) SoGurdac Lehef.
Tl;e lines connecting the opposite fiducial marks intersect at
A)’ cog'tact point B) prmcipal point
Q) isocentre _ D}  focal point.
69. Vaugaore Lehardsrée argrtd uosiulsdé aaupep @bsddampan 2
lA] e wHpd Sy e ' B) e |
C) e wpmd aaﬂw%&n ] D) a&cu’mmm-'nq umenp.
| ;haped gully sections observed in aerlal photographs is characteristic of
A) ' sand and gravel B)  siit
C) ;. silt and clay . D) limestone.
" . - ({ Turn over
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70. argnidl yersuu ksefle 60% Cuhsalidnsed ued Cup, GG yosiuLsHé

B)

€

D)

SR % werCarppd BinHe CeuaorBib. -

- yeoslupdler fle eraller 60%

yemalu dle o sienallés 40%
yemaLiLL. e Hlev yerailsh 20%

@jéob‘r@ yensOLL hsetlen Hleo serallés 40%.

For a 60% overlap in aerial photographs, the ground separation or advance per

photo is given as

A)
B)
C)

D)

60% of length of ground covered by each photo
40% of length of ground covered by each photo
20% of length of ground covered by each photo

40% of length of ground covered by two adjacent photos.

71.  Sereumio Sappis@en sadipHld Qares :

. yeahadse Quantiids prevg Héaaar o eieng.

I yelarssd CuoLdd owsCyraularifs Cua_Cur® Cstba mbe
SieTey GRHSLEUDD UL LkiseT 2 eerg). B

. yefarss CuaL e @ean@ saduemyg S@rsGarend e eieng.

V. yefleuted CuérL ugs Geamemeaner LGLLSHE e sadlng.

Geubueir :
A) Il @b sfhurarg B) - luwpgod I efluretencu
C) L wppd I sfurerensy D) s@apghd sfurareu.
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. Constder the following statements :
L. Universal stage has four axes.

II.  Universal stage has five graduated circles including the stage of

microscope.
III.  Universal stage has two glass hemispheres.
IV. Universal stage is used for studying twinning.

Qf thése statements :

A) I alone is correct B) 'Iand Il are correct
rd ”
C) 1, II and 11l are correct D} all are correct.

72. l‘;ilj’ﬂbel_GbT.ﬁﬂlbUE&éSl aqs;nmqu-@smipuﬁ@, gqg;s'ar“@s,usmu
A} e @opiy Ceransdbed sowns ahp CoudmEid
Bl  45° s&pn Gauc®o
c -asrnj,g Geopli Caravisdlheb sdawrs eahp Ceudor®iid
D) eﬁmj;g &opluy Carasdb@b Gopars &hp Gms&m@ﬁ.
‘fhe rule for setting the Brunton compass is to rotate the dial
A) through an angle equal to the magneﬁc declination
B)  through 45°
C) through an angle greater than the magnetic declination
D)  through an angle less than the magnetic declination.

| - [Turnover
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73.

74.

75.

uUTED LPDSEEG GeaTurs RBHGD dugors Derealld Q@ s ... e

GO
A) Grevasst Semey B) u@es Senay
C) drsarbe Nerey D) edr-adiome Serey.

A variety of strike fault that is parallel to the bedding is known as

A)  parallel fault B} bedding fault

L]

C) longitudinal fault D) enechelon‘ fault.

. Sifored ghurL ot Cupuriy, wamaTed apLOUC®, Sgdle 2 eien LT pule

Quer Couarns o BTTHBTER, BB --ovvrerereerernen S GLD.
A) Qe mée smatoTé B) . pret-senceumimifly
C)  QuiblienCGreayesr : D) SQene L gyetamacoumtibiyg.

A surface of erosion which is covered by residual soil and lacks sharp contact

with sub-surface rock is called

A) intrusive contact B) non-conformity -

C} peneplanation D) blended unconformity.
@&;Q‘,\@&mnmmuﬂ@ ( ,g{GBT%ﬁ&L:WﬁLE\&r ) B® usssHlen Llrrsmr,r)e,a'T @)\ e amTwm &
Qiveumer GywUdeT, gt ‘

A} geusesoumTiblg B) sl enT sesesioountibliy

C)  mrer-Sedtooumibiy D) @eubmsh & gopdsenen.

When the rocks on the opposite sides of an unconformity are nci parallel, then it

is known as
A) disconformity B)  angular unconformity

C}  non-conformity D) none of these.
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76. Quibesddr Qsupuridlentéd o GaTHsILCR, aurgmtdl yasiu deefld Can

77.

Gumés sramiL@eug
A} Sbwr - " B)  ShlwGuwett
C) SPGuaesy D) AlgCar®.

A line resulting from natural processes and may represent a fault in an aerial

| photograph is
A).  linear B} lineament
C) lineation _ D} ridge line.

Hereyamenes ghul L. seoL.d) berey whpid uley Qelwiu’ G Guwlug

a) G smpLL ‘B)  evdllQasians_ L HES

C} @G’@m-fraﬁ]@ml.‘- D) sag.

The last or latest movements along a fault is recorded’in

A} Mylonite B}  Slicken-sided layer

C) Pseudotachylite | D)} Gouge.

setdler Guer geprean Sl Kereymel SjenpbaiuBeug

Al Grquwes Jerey '- ' . B sra&-ereﬂmrra‘n Ferey

C) QuiidQurd Neray D)  CGupsalblesen faey.

Relatively short faults that overlap each other are called

A)  radial faults B) enechelon faults
oy peripheral faults D) overlap faults.
 [Tumover
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79.

80.

81.

uisene Ga;rn__rrsm Gnésb, sEEGsd whpd Hrrally &umemq.ﬁt. 1§ UL & snem
2 heurd@h CeupuThGseiead o HTyeshe e

A)  prat-QLsLreis @b B) afieems® o@b
C) e 2 maurssalud @b D) QuLéLrealld 2 @ib.

Horizontal compression, contraction and gravity sliding are examples of folding
due to -

A) non-tectonic process B) lﬁllslde process
C)  geomorphic process D) tectonic process.

Qurgieurer afllfller Lg, urenp wldr o IeTey LHPL sesda alldlg
Qurmgsd Fyre GmeebCUTE ].ml.@fngrra&‘r Spsaco_cuppet et frrs QHoHGD

A)  ues wTHes B) wr@eody U Glemreug g

Q) urepiest Sy H&) D) oflut &bl

As a general rule, the ratio of the wavelength of a fold to the thickness of the

" beds is constant only if the .........c.c........ ratio is a constant.
A)  bulk modulus B) modulus of elasticity
C)  density of beds D) shear strength.

Spsacsoeupper sflurs QUTGSSI LG eTg ?

A euggedud GerLilyréen b — eeugh

B} yealosedue Gatlgearey ud — SNGureneu
C)  syemwoevey @e&n..frugs&rdu euGTETaRTD ~—  GITTemn.

D) efGurGarflevd — GCusetenL.

Which one of the following is correctly matched ?

A) Biaxial interference figure -— Diamond
B)  Uniaxial interference figure - Leucite

C) Anomalous interference colour —  Garnet

D)  Pleochroism ' — Magnetite.
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82. geft sfltast sigan GLsdle Budg GG mssdiar afiCu QaelGupin Curg,

QerpbeiulL sanpdle Qbs sditsd vuallss Cuend wuerupgs wouflor o
perpHpe Guut

A)  alyeué genin B) @nse serd
C) &gt flensGousp ged D) alevsé genid.

When light rays move away from a source in a medium, at a given moment these
rays will have travelled and define a 3-D surface known as

A)  dispersion surface B} polarizatio;l surféce
C  ray vel&city surface D)} refraction surface.
83. @eiembulnsandle: shafl Hyraays Sepgsier geflotseh |
A) U-Th-Sn B) Th-Nb-Sn
C)] Nb-U-Pb | D) U-Th-Nb.

Near Kullai’npatti, the Sankari granite contains the elements in higher

concentration, are
- A) U-Th-8n ' B)] Th-Nb-Sn
C] Nb-U-Pb . D) U-Th- Nb.
84. Sggbycimy srdUterday shaeh Geadgsbondle urdasiulLg
A 56y o Heoeds o géflasny s Cury
B) | @y eor® ﬁmma,.s\ﬂé: 2 méfangey e Gurg
' C)‘ ey Peoaadls o méflangey o Curg
D) oo Howdgb o @éflape s,
. The rocks of Sittam Pundi complex, near Salem underwent

A) only one phase of deformation B) two phases of deformation

C) three phases of deformation D) no phase of deformation.
" [Turn over
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85.

86.

87.

gihpmriger Cuhel ugdHulld 2 erer Gmtj)@é QarLité8 weneuldler Guwd

A)  sdgmues | B) arurs

C &rCud D) Gseuprd.

In the western part of Tamil Nadu. state, the Western Ghat hili i‘anges are called
A) Kalrayan B) Sahyadri |

C)  Chittert D) Shevaroy.

£Cp Gar@ssiul.@erer Hyrearigen cuwg Mgy waopde 2000 Ma &@b
GupulLg '

A) yGpemeyefluibul g Hymemesr

B) eagdpayd @engdleaiyfln fyranen

C) sy @Urrsmsm'_

D) G\&@eﬂ dyreneoi.,

The isotopic age of which of the following. graﬁltes is more than 2000 Ma ?
A)"  Punjaipuliyampatti granite B) Vanjinagaram pink granite
C)  Kadavur granite D)  Gingee granite.
Qeusiemendad syReeiléd 2 eer @Grjrrranml'_, é\gms\)rr&»cqtol Quaeiy LGdlaaTaabd
Qdle siemwhgieieng

A] oy eo1 &l ementL B) euprsflevear

C). epmretiGlensstemL L " D) Q&r’r@us&rqm@L.

In chalk ﬁﬂls, chromite occurs as dissémination and as thin bodies in

A)  shonkinites ' B)  pyroxenites

C) hornblendites D) serpentinites.
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88, OplGaeltles urenpls Ligaysefle SPSSHwDH Ly eumbiy
Al fee wHpd Gamrtenfl, QLrdlufl whpis HACL Auen
B) fearl ugeyser, Quidlud, ARG Suev wpgd INCHLS Pwes

O garciafl aadr e o, QLidlufl ugasa, £HNGLHudv wHED
NG et iflwesr o

. D) @eurLireft euedrL_é wedor, QLrdlwh L eyselr wpmud TNGaDSIPweT.
The stratigraphic succession of Neyveli is
A}  Recent and Quﬁtemary. Tertlary and Cretaceous

‘B)  Recent sediments, Tertiary, Cretaceous and Pre-Cambrian

C) AQuaternary‘auuvium. Tertiary sediments, Cretaceous and Pre-Cambrian

S

D)  Quaternary alluvium, Tertiary sediments and Pre-Cambrian.

]

- 89. OpuGeaueiidie, uapuy Blesaflller uu}mﬁﬁa‘rr B LOEST
- A 83@5@ 22§ whHpd Siger Sp et

i B) 188 opad 428 whpid Sips Fp wempuTEDEEILET iy Slud BBlepl |
: uPens |
: C) 84 wpsd 2285 whpid gt & wamLE g EuedT B Hepl LGNS
o '
| ‘D) 188 appd 42 8 wHpib Siet & weIHUTED.
., In Neyveli, the lignite searﬂ varies in thickness from

h} 8 m to 22 m and is underlain by sands

‘B) 18 m to 42 m and is underlain by sandstone with artesian aquifers
‘C) 8 m to 22 m and Is underiain by sands with artesian aquifers

l.
D) 18 m to 42 m and is underlain by sandstone.

(1004 [ Turn over
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90. 2 $8HgMT LTeDSETE Sy loest

91.

- A) 300 F e 800 f ey bLHRD aETL WD, seflweao whHoid

urs@urenyL L UTED 2 (HTENL_ &6l
Bl 200 4 @wse 900 f ey whHpd LSETHUTEPD, UL W WHHD
SQuEgeaTen 2. Bt sl

C) 200 4 wae 700 S ey Basdlfu e e b, sreCsflweay wHpd

D5 (& 6ftI LD edioT

D) 300 i ws& 600 § wey Hssdfly acnid v, sreCsflus whpid
werpasefivasgy & ureuureri, areaGsfludy wHpD SOUGgfarey
2_(HBOTEL HET.

Uttatur sediments range in thickness from

A) 300 m to 800 m and are of silt and clay with phosphatic nodules

B) 200 m to 900 m and are of sandstone and silt with. fen"ugmous nodules

C) 200 m to 700 m and are of fine silts, calcareous and sandy clays

D) 300 m to 600 m and are of fine silts, calcareous and sandy clays with

phosphatic, calcareous and ferruginous nodules.

Sisems. G et whpd NCagCur Hlarevflenr Laler alfl Gyekmenwb
gL Blw Cugrdiflur. CGuéev Qlle apTil @ LLETLESSILUGE @D, Sibd
@EéED 2, 3, 4, 5 i Qandoi sl sefler abs s Tl Halld
Sfenemeu sy 2 seydlng

A sl B 2 - B 563

C) sL{ 4 D) g;t'.@ 5.

Anorthite content and twin laws of plagioclase feldspars are determined using

" Prof. Max Reinhard's plates 2, 3. 4 and 5. In these which plate is used for finding

anorthite content ?
A) Plate 2 - B) Plate 3

C) Plate 4 D) Plate5.

| 1904 ] - [19000 ]
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Gr@GLnL Quretip Slev A& aeflnhisellen anadt gy ool eTeraGagedr
A) egifloc sra)rrlé.l@m&_a'n ' B} Grflew amwr&s@m&e&r
C) | LTQLIC L TeThGHg e D} esdn 9yl dTarhCaad Gidamen.
Some biaxial minerals like epidote group have sign of
A)  negative elongation B) positive elongation
C) variable elongation D) no sign of elongation.
#rés mefvhseld X-Zsergdbsrer Quui
A epdyl oubssgfady Bl goldud giée

C) geflflue é6 gemd D) g@eflllue Cenesg.

In btaxial minerals the plane X-Z is called

A}  Acute bisectrix B) Optic axis
C)  Optic axial plane D}  Optic normal.

94. paoL. ugsksd wdl-GpCw doslle, sppLu@d Gurg, smaTye
S t$Cgrev Garllsdle unipgre, goamsapailou 2.6iGa mopsbeb Gurg.
Sa(DBHH FDULL-TE beHs safliogdler B b
A Gpfleo pLid B) edfloL flLb
C) wrgule Blis ' D) @uLé @ Geeme.

When elongated crystals are rotated into NE-SW direction under normal
orthoscopic viewing, accessory plate is inserted, if addition occurs, the mineral is
said to have ‘
A) positive elongation B) negative elongation
C)  variable elongation D) no sign of elongation.

95.  epwiu@SHSILLL GTEs geflllue UL&,gglgudTm eoww Seyeneu @GN micds Gesorr & dlullesr
Guencow sppbGurg Hlevewrs QYEHETS HHE Guuwit
Al gGsreglrmhd B) gGsramen
C} gCsrurg D} gpGarlgib.

1964 | . B | Turn over
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96.

97.

98.

The central block cross which remains stationary during the rotation of
microscopic stage in a centred uniaxial interference figure is

A)  isochromes B}  isogyres

C) isopath D}  isotherms.

grées aaflvtisdle sfl-srgryean adi Casors QBHeTd by saflivpdla G
A) Gpfleo

B) edlifleoL

C) Gpflor whpbd erdflen. @yesoGin

D) Gpfleyd @G‘umm ergiflenLyb @)deme.

In the uniaxial minerals, if the extraordinary ray is fast, the mineral is

A) positive B) negative

C) both positive and negative | D) neither positive nor negative.

. Ogavell auans Seveg 2l s geflallasdoras agar geflallasd e

Sl vweasTLRAPE ?
A) oarsg saiohser B) rpés sellohiset
C)  gCeryCrrié seflwhser - | D) g@rés selnhismel.

Jelly-type or Abbe-type refractometer is used easily for determination of

" refractive index of

A) all minerals 7 B) biaxial minerals
C) isotropic minerals D) uniaxla] minerals.
rrée QTG srihag Gownrs QaTely

A) OenssGaramid B} QGurQairdlefais

C)  t5Caryrids D) wendleafafs.

The system that does not belong to Biaxial group is

A) ’ Hexagonal B) Monoclinic

C) Orthorhombic : D)  Triclinie.
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99. E.RT.S. ydlw af@uller yemey
A 8018 B) l-aﬂ.uS;
”‘ liC) 108 D)  @euppuel ergeyiloamnen.
.The resolution of E.R.T.S. was
A 80m .B)  1km
C:] 10m D) none of these.
100. LIIITUI'I'L_I'I’G'BSU)GTU@ asegoLw GHUE Cgraguit asswrs smsLLGSDE 2
A) & Caniiflugée
B) EGGé-lbaﬁhﬂuJa‘sr
O GoaGabdius
b) 2T CLmellflwes.
Paradoxide is an index fossil for
A.) 10wery Cambrian | B)ﬁ middle Cambrian
6) upper Cambrian D) Ordoviciaﬁ.
10‘1. %.Ggsuﬂwin-ZS‘S &1 gpey Sestloid
A} Srsren : B yGpeNeneri.
_ (:3) & Sleredom : | D) @emeu Siemandgid.
. The source mineral of the pé\rent isotope, Uranium-238 is
A} Zircon - : B) Uraninite
C? Pitch blende | D) all of these. |
E t | [ Turn over
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102.

103.

104.

Spsaanapner yaludliay ghuhb uedh ag ?

A) usLE QuERsL_eead shPysien LG

B) wgdu geny wHmID Tty - L Fwm wesoreuid

C) QupisL o ewwu webssl whpid uIfse Lﬂ‘msql Qsﬁmﬁ;ﬁn&@
D) @leme emesTHHD. |

Which among the following is an earthﬁuake.zone ?

A)  Circum-Pacific zone

B)  Mediterranean and Trans;Aslétlt; zone

C)  Mid-oceanic ridges and African rift system zone

D)  All of these. |

Fpsaa. aflvoe wuasdigies ooupdSehs spepby QuelGupd aesaus

BTITSH TG 2
A) ey Gumeblwedt B) Qeuselwen
Cl eweGaafweb o D) g&ere afivee SLyd.

Which among the following does not belong to central eruption type of volcano ?
A) \Strombolian B) Vesuvian |

C)  Vulcanian D} Deccan lava plateau.
Gugeurflures afwaneaer qéﬂuﬁ@ srij,g, ueHdlSimhg Camerpdleiper 2

A)  evdl@ermevdouit B) §CgreudeSut

C)  SCsmevcoui ' D). yell a_erenwwugdler Cuangd.
Most of the volcanoes oriéinate from the layer of earth called |

'A) Asthenosphere | B) Lithosphe;e

C) Mesosphere ' D) Outer core.

(T604]
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yeld® oyl urempullerey ghul® @ eurllars UTenp o6y 2 Gaurdl, Lal
St sucHeussi 2 T T Sy 6 Qluwr
A apfos sy B eopbs apsdd goubs sfie
C) yelpsie SHdliteueme D) efoeurd 2 Haur@b sEifey.
Earthquakes generated due to sudden earth movements along faults are known
as '
A) | deep earthquake B) shallow earthquake
C) tectonic earthquake D) volmﬁc earthquake.
106. yall sydlreuencoulleln a;a'raq(gméo, e ghubpad Csssdlplabu Hifamilében
wpenpdler Quurt
A far seralare B) Quisdae enaCasms
C) Geugent yenaGare D) orsaigyl seraCad.
' Earthquake intensity séale devised on the basis of damage and loss to the
structure is called
- A} Richter scale B)  Mercalli scale
C) Wegner scale | D) Magnitude scale.
107. erellens wpdTen_wyb Carlur® et WPseld WTTme SmHSIUL L g 7
' Aj ' Qgtﬂ@ i ' B) eureéi@amlLm
Q) @iels | D) GuGuwdn.
Elastic Rebound theory was proposed by
A) Reid . B) Von Cota
C) | Irwing . ‘ | D) Bateman.,
@ . [ 19000 | — - | Turn over
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108. erfloerevs shaafles gemeaTdar 2.eiien evuTEhé GuUTEID EMOLIL FHULL TG, 2486

Gl
A evQarfur B)  arfded
C}) k Q\_doluym D) eflbemes &mburri;&e'\) .

Vesicular fragments of Lava crust with sponge like texture are called
A) Scoria B) Lapilli
C) Tephra D) Volcanic tuff.
109. @ﬁiqun-S? e seilvgdlen ape SeTTLTS alleriigd &eofibid
A)  wevsemeU | B)  uwwem i
Q)  GQelGLranei D) @eveu SiemerHgiD.
The source material of Rubidium-87 isotope is
A) Muscovite | B) Biotite
C)  Lepidolite D) all of these.

110. Lﬂmm@mmmp@m @rﬂtusuﬂsur Simaroolidimha &TybD a@]&,rﬂm@m euem a6y

Siewpgerer Caraiaciler cuflens peop ergy 2
A)  Oprigyet — il — yGrerev — ellwrjpest
B) gyl —Opligyer — el — yGreren

C} | B — elurpest — wyCresrey — GipLigy, bt
D) yGpeev — gafl — bl — aflwurpei.

Which among the following sequences of planets are with increasing distance
from the Sun ?

A) Neptune — Earth — Uranus — Jupiter
B) Earth — Neptune — Saturn — Uranus
C} = Earth — Jupiter — Uranus — Neptune

D) Uranus — Saturn — Earth — Jupiter.
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&LG geof ugeydlng eaTuas Sl @Lu;bsma, uflGergener saLid
A)  gliumes B) g evdiCyedlur
C)  gpeveuTason D) Ayfarsg.
To study the sea floor spreading the natural laboratory Vis
A) Japan . B) Australia
-C) Iceland D) - New Zealand.
112. QL&@G&T S Ppuedds 2 dm red Hap@és @OUD ... v GG 2 dreng,
L‘ A) LT SHLILET e B) aeieuigen gHlG® -era')smsu
C) 2 lugdde D} | ey
Deep seated earthquake epicentres are mostly located in
A) divergent plate boundary B) convergent plate boundary
! .
C) inland D) island.
113. Sert’ Sevesafletr seafls Hpiy
B A) . gybdler gieube Hlave B} &THdi&T Lgey
C) gfflen ofiy - | | D) a;i‘g)@sm g6y
- Flood plain is characteristic of
A)  youthiul stage of river B}  wind deposition
C) lake erosion ~ D} river deposition.
114, gfGurélendlenenafletn L9y ....oovvvenve. 2 é_{,& I SLILOSSILL Hererg.
A Qa1 QuoegorLifl wpmd Eiflevemeved
l‘ B) @e@eyrsrails wpnbd yrsaralls
, ;C) Af gGrrigeis, O Lemensvg , Lenenevé whmd Gioeur s
; D) @eubmust & grapdléienen.
' [I@ [ Turn over
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Sediments of geosyncline may be classtfied into
A)  biogenic and crystéllme
B) inorganic and organic
Q) - pre-orogenic, pré—ﬂysch. flysch and molasse
D) none of these.
115. Seeumeuarsuppist arg stivengen amatures whpd Cuel 2 Beaure Gem_midarsg 1
A} SCar QL refésh | B)  wpdu om0 udtergsree
Q) uidgiy sgaor. _ D) wppdu HACaflut ustaTdpgrée.
Which of the following is not the origin of submarine canyons and fans ?
A)  Plate tectonics | B)  Submergence of river cut valley
- €} Turbidity current D) Submergence of glacier ci.lt-valley.
116. yflu sL& geoy 2 HuTGD Gib |
A) lﬂ.l}'@jé ' ' B) slUL&aye Cameln
C)  gomeevumrtd LTé D) A @cwrreuﬂé. fllgp.
New ocean floor is creai;ed ata
A) ~ trench B) subduction zone _
C) transform fault _ D). mid-oceanic ridge.
117. gpwrer sLeelbha o pobHp wsamer GRpHhe e L angaild auengd
A) f0 E] @ur’rl;'o
C) . @eubmst ergiaybléensn D) sLmé.
Circular reef rising from deep water enclosing a shalléw lagoon is
'A) reef ‘ B) .berm

C) none of these D) atoll.

1804 |
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118. geoslea sordel®mhba sniby augeupdier cuenpd i§fllevCmess
A)  «BLé B) érun;.mé;su)LL
C) srlled | D) eu el .
A conical deposit of drip stone built ﬁp from a cave floor ié called_
A} stack B) stalactite
- C)  curtain D) stalagmite.
119. eppdlu HCenSlui LatengsTée
Ai L@ B) Gprégev GenebrLmest
C) 'GL.rTﬁ'GﬁT | D} @eubmet ergieyblevenc.
Drowned glacial valleys are usually called
A) ﬂord B} roche moutonnee
C) torn | D) noneof the_se.
120. sreCLeays eredmug
. A)‘ giseael HNhSHTHole @QuLiug
B)  geiset uthbaipquns gﬁsmsuuﬁls’u SIS HETTEH @I IDTHDD e g
C) asataer sflhg, 2 oo vond ddars srall Csdoug
D) @m(_bga‘r agopfidene,
Saltation means
A} particle remé.in in suspension
B) particle matter transported in the form of ion and is essentially invisible
C}  particle moves by sliding, rolling and by short leap:.s(

D) none of these.

1904.] . ) . 19000 : [ Turn over
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121.

122.

123.

124.

HeeliGuaean. safngdest SUULTHE eTgl 2

A) 3.24 ' B) 4-25

c) 212 : D} @mfp@eﬁ e gieyblvene.
The specific gravity of sillimanite is

A) 3:24 ‘ B) 4.25

C) 212 D) none of these.

eruig GuamLil’ &suﬂmﬁ_e_f,\s&rr Sereyu@dl erg 2

A)  (001) géveluwmen B) (010) sévedluren

C)  (101) Gurawmer D} @eoeu &mmﬁgﬂb;
The cleavage of stilbite is

AY  ( 001 ) perfect _ B) (010} perfect

-C) (101 ) poor D)  all of these.
Fpseao ahg saflosdlear Quur sl sl 2 arer gallat QuuAdmHe subsal
A)  gydenul B) Gufle |

C) GCeugGrmengl D) GLmume.

Which of the following minerals is named after an island in the Red Sea ?
A)  Albite B) Beryl

C) Labradorite D) Topaz.

GCearanyL cuas: seflbhime &pésmeioraubbles erg ?

A) eﬂ]aﬂsﬁmerr@@sﬂrrﬁ B) &sQGurensl

C) QuesenmedenL_ L D) @ SoaGHHID.
Which of the'follomng minerals belongs to chlorite group ?

A) Clinochlore ‘ B} Chamosite

C) Pennantite D}  All of these.

-
[
0
e
[=]
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‘1253' Ppwpp Grocles saflivi ag 1
A BengGarenen B) & 6C8pmreny
Q) Gumrsene | | D) @Gmsu ST HGID.
Colourless tourmaline is
i A)  indicolite B) achroite
¢ C) morganite D) all of these.
126. ellpdluib Glearrcdm@a'm{ Gtrweler seaflwbd ereaump S PHSULGADS 7
B Al gemeul B) Lretutenn
C) Lyremeul | D). ‘@eubmyefr srgjeﬁtﬂs'uma:.
Li-bearing tourmalipe is called as
A) Elbaite 'B) Danburite
| C) .Dravite ) | D) none of these.
127. s@igaus @inala saflogdar Quui eeren 2
A) arGsranan. B) du&@qrra'd
| C) el &8 CGymuiic D} oCuree.
; ‘Black tourmaline is called is
i A) lawsonite B)  schorl
| C) dichroite ' D) iolite.
128. peplporer peurpdlen aeme Caryeson i sdieury S psslu@ding 2
;A) g v et | B) seuwrf
‘e e D) @eas b,

Blue coloured gem variety of corundum is calied as

A)  disthene B) sapphire
') ruby D}  all of these.
" (1904 ] [ Turn over



PGEO 50

129.

130.

CanrgeoiLb eaflingdler Slerey ereleury o sierg 2

A) séflsons : - B) ssdlgbloanrs

C) (A} wppid (B) G)yesorBid D) @eupper agefidene.
The cleavage of corundum is

A) - perfect B) itmperfect

C) both (A} and (B) D} none of these.
®SeraL. seaflod SpobaaoiL abhs urapsaile Bigdurs sraoiiL@D 2
Al &oDHS SGEYOLWL epay

B) Jedure seduoLu ondy

C)  eonbs sedlyoLu dev.

D) Hedure s@duyeu fevl.

Chlorite is an abundant mineral in

Al low grade gne‘iss B)  high grade gneiss

.C): low grade schist D) high gréde schist.

131.

132.

@bs FCrhse SGy FH&HLIOD sreelhe Qurr@mrrg&g wdilevene
A  eaCrg HCr@ , B} e Ay

C) sl 0 HCrE D} @eubpel egaibdene.
The grade of ore below which ii is not ecohonﬂcaﬂy feasible, is

A) average grade ‘B)  mill grade

C) cut-off grade D) none of these.

douure 2_eret grgieia Gran® g cpain ubepde srTbdler aRSHU UTTHBHTE
gl

A)  ugrGuier et B) lmeu® gf

C)  urdller g , D) @eubpet sTgeyblevenes.
Ore exposed and sampled either on ﬁvo or three sides is known as
A) probable ore B) proved ore

Q) poséible ore D) none of these.
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133. Neraumeusteubpeh ergy GoTed evweailiens Cagras 2

A)  emh eumé gﬁ.mrre&rmﬁllﬁl | B} Guri® el dléﬁsw'r

C)  wnrieurd FLQiyighs D)  umett wpmyd G G .

Which of the following is not a coal mining method "?

A} Long wall advancing . | B) Board and pillar

C)  Long wall retreating D)  Pan and batea.
134. Qyiedlelmha sowss Qe wepse

A)  syebrrCamett svGLriuiih B) efifiuGag envGminim

C)  guen geut GopereuGLridh D) a0 Gleveuds svGLmI,

A mining in which excavation is done from a raise is known as

A)  underhand stoping B) shrinkage stoping

C) open overhand stoping D}  sub-level stoping.
135. gpssmwe Gupdlyrg Lgasamer arhsd Csiyd WoD&E |

A) @Gurrrﬂlﬂlfﬂ B) yblesr &p srhisn Cameahg

C) gepalus owefli D) @eubger srgeybicene.

Mining of unstratified deposit is called |

A) cjuarrying B)  underground mining

C) alluvial mining ' D) ﬁone of these.

136. sifle oy padld o eer urampaaet oTw Sifls Cee Oeram Gy suf

A)  Jdlgw - Bl yOyerdi
C) yhadin D) @eupueh ergeyblévenen.
To investigate rocks at greater depth at much higher expense.'the only way to
access is
A) | pitting | B) trenching
C) drllllng _ D)  none of these.
_ : | { Turn over
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. 137. Qeug eveup@ $eTHS e a@obs0LEHD QuTHemer
A) Goerer grivpllel B) & smbeir
C) wé srbller D) '@surj)remefr ot gasylévemen.
Collection of material after a blasting is called
A) channel sample B) chip sample
C) muck sample D) ‘ non'e- of these.
138. L wrer g SHUL s wiLwrear @i ypwd Hpbs Hle 2ispalbe
A) gL ' | kﬁ ' B) egmaC
C) wgyee | D) Gweweucn.

A horizontal or nearly horizontal excavation that is open to the ground surface at
‘both end is called

A)  adit B) shaft
C) tunnel D) ievel.
139. ahg uTODHEG Ple CL_dTemevd evEILFhS
A)  sren@enGLmet B) éu(Bsul'_
Q) wmider | D)  dyresen.

Which one of the following rocks has the highest tensile strength ?

A) Sandstone B) Slate
C} Marble D) Granite.
140. BT ST ...covveerenen, 2 Sheg.

A)  Se&ID LeTeTdBTHEDS

B) ©Gpserer ua‘wmg’.g;rré&nj)@_

C) ©ndu wbnib &SP usTnsarsdlh@En

D) @eubmeh ergiaudldenen.

-Arch dam is suitable for

A)  wide valley | B) narrow valley

C) both narrow and wide valieys D) none of these.

18000
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141. @euppier ahs Wepeow LuETLGSH Giwby sraera sdnigsserD 2

A) aausbl Nesa " B) uwréegd

C) - GyyGur gy égsh D} @eubpst agapdéane.
~ Which method can be employed for prospecting iron ore ?

A)  Electrical : B) Magnetic
€)' Radioactive D) None of these.

14° Lﬂsérm@mwréurj)gﬂm ahp UTenp Sifle CriqCur oy siel syemmoed &nﬁ@ﬂmy ?
A)  HOLGuUT @neuL. B) GQuéwen L
' C) dyreven D)  uevméu..

Which of the following rocks shows high radioactive anomaly ?

A} Amphibolite B) ‘Pegmatite
C} Granite . D} Basalit.
143. yilfler Gupurspdles HeefloLad wvhpd 66 sTassd SOLUTEESMET
 QaflalléEh. HEUSEEET i TS iEPLILIIT.
A uTéev Girs B) Gamevmed
| C)  aefe@uen D) %c‘ﬁerﬁ](‘él_meﬁr.
- Leached and oxidised part of the ore leave gurface indication and that {s called
; j 'A)  box-work B)  gossan o
. = C) enrichment D) oxidation.

'144. 08emd env@UGL Crm UL whpd enflevenest svGlus yrdlL i
: A) guregéesc Gereul epoloes

B) HCurdefisad o &y LGhocta._

C)  HCur Gefléss siediiiybac Gersu mpCel

b] @subpist ergiablévenas. '

-F‘lame spectrometer and emission spectrometer are

A) ~ geological instrument

'B) geophysical equipment
*C)  geochemical .ana]ytlc'a] instrument

. D) none of these.
- [1s0a] [ Turn over
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145. Semeumeuseundley erh eoweit erellCel. ifls CuomenLic

146.

A) Br - B) Zn
C) Cu D) Cr.
Which one of the following minor elements is very mobile ?
A) Br ‘ © B) Zn
C) Cu D) Cr.
H eoL 1 euenen@am() eTebiug |
A} pr<pa<pg | ' B) p;>py>P;
C) P ,<pa>p, _ D} p.>py<pjs-

147.

148.

p = urtBueayest QyHevgally.

H type curve indicates

A) P <Ppy<pg B) p,>py>Py
C) P1<P,>Pg D p,>p,y<ps-
p = formation resistivity. ‘

Qo GO Lfﬂsmg,eml_mu.l Glarao D, ey CrrRaseier GenQeushlanu a{é]ﬁtﬂﬁﬁl

auflmswrs Qedyb a{a‘rmm&ﬁﬂm Gluust
A) DancmuaS\:in . B) VES
C  enrlgre s&CuretCreoges D) @eubnst agadame.

A series of measurement of resistivity about a fixed point by increasing the '

_spacing of electrode in succéssive step:-; is called

A}  profiling B) VES

C) lateral exploration .D)  none of these.
bl &1, HeyeoI(t g HeloTHLIgHe 2 oy 7

A} erajéatq.r.ﬂé‘:ead: Ci@emm

B) sdialés -

C) - smhp semey

D) yaliroy edsvedlerrd ghu@lt p@&sid.

.M. counter is used to find out

A) electrical flow _ B) radioactivity

C) ° magnetic intensity D) - acceleration due to gravity.

[19000]
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149. Qenu &l

¥

150.

151.

152.

A). Px<Pz>p"3 B)
C) p,>pPy>P; D)

p = urtGueyer Girflevgeaiiy.

@ type curve indicates
Al Apl<p2>ps _ B)
C} p,>Py>P, . D)

p = formation resistivities.

tnSleodehy GoL. erebig

A) onben Gur SrLd B)
C) GygQur gyégels o D)
Flux gate is the ‘

A) magnetometer B)
.C) radioactive meter ' D)

‘Lm&(‘&ﬁﬂ@p‘eﬂdﬁ’ TTLemdSH GPISGL sums
A  y@lirafls 2 muorppd B)
C) M GurdCyp 2 GLrhpb D}
“Diapthoresis” is synonym of

A)  plutonic metamorphism ‘B)

C)  retrograde metamorphism D)

PGEO
P1>P5<Ps

P,<Py<Pg .

Pi12Pa<Pg3

Py<Py<Pgz

Qevg afiig S

@uppet agabidaenes.

resistivity meter

nene of these.

Fellesich 2_@mHpD

L@y AGrH 2 murhHpb.

regional metamorphism

prograde metamorphism.

Bléwen .l G sl Pesuee 2 e Urepur@h. SHle 2 eren @(® uGHiseT

A) @sé UGH sevhuTep, ety LgaR LT

B wesdid ugaw urep Nty 2 GHUrHDIL UTeD

C) sl gepureny eIy e_@murbms ureop

D) Cupedili L seiggl ugdser.

[ Turn over
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- Migmatite is a composite rock consisting of two parts

A) first igneous and second sedimentary
B) first sedimentary and second metamorphic
C) first igneous and _seéond metamorphic
D) may have all these types.

153, dyrepenaliges Caflilud ppabentdanett Gurre&r@ ST LTenn
A)  dymeeri " B) Lwew
C) &smuGpm - D)  usvmrel.
The chemical composition of éranulites is that of
A) granite : | B}  diorite
C) gabbro - D} basalt.

154. g.é\ Aol p&Garas suepuLsder ‘'C aenp Weanetlidy @GOILLILCLEn #efoib
A)  dlgeveumeyeng B) Luienen@®
C) eTelTenemLLL D} a&rcvemenL..
In the ACF diagram, the corner ‘C is represented by the mineral
A) grossularite | B) diopside
C) enstatite D}  calcite,

155. SLitfln epey LTapamwus sHP HFTeeT. LT bbb STETHULLIS HS6T

- Qi
A) IsveLL ' B) OQuwlLr@srp
C) LuwGLéementeu D) GQulLrOL&emenl sv.

Angular fragments of darker gneisses surrounded by more or less homogeneous
granitic material are called

A) agmatites - _ B} metasome

C} diatexites : D) metatexites.

[1904]
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156. saflivhssfcr Haepgsienn a;é,]érﬂ&@m aumadier Seowwl Qupp s afas,

1
1}

A) @6‘5]951661', Sy eosL, aprien Seredor.., @eurL e
B) ’ g Naller, pomreneredon, SeuTtan, st
Cj anriesniereo., 9951951681, 2EOEL, Geumiilen

D} | s, gomiemnilenao, geialdr, e dv.

The correct sequence of mineral arrangement with increasing stability is

A)  Olivine — A-ugite — Hornblende — Quartz
B)  Olivine — Hornblende — Quartz — Augite
C) Hornblende — Olivine — Augite — Quartz

D) Augite — Homblende — QOlivine — Quartz.

157. afgpi%&édm_ G:GUﬂLD-If:JEs@GfT alleagailes flengeaypid GeTevwOyEOL WG TG ?

A) GeummLey B) Q&L |

0 golafler | D)  aorienleaorl.

Whicﬁ amohg the following is least stable mineral for weathering ?

A} Quartz : B) Augite

Q) Olivine - D) Hornblende.
158. @Q_I,ézé .g_q@é:@lli UG 6 EoTL_ e lev 2 6lTem LTemD euens

:A) ! & SOOTRBTTIDL SeubS ETHLIY 6 B) &#GrGeus

C) ! AtHCaT Geurtems D) &Q~a|r?@5neiu.'

The? most dominant rock type in the cross-bg:dded ‘facies is

A) calc-arenite B) graﬁacke _

c {orthoquartzite " D) sub-arkose. |
(1904 l | | | [ Turn over
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159.

160.

161.

Jlereumeaiseupeir engedefiuen everg LIGey T ?

A) LS‘IJ‘é’:GﬂS]U.IIT. B) HyGeus

C) uméeent , D) enprspuTED.

Which among the following is not a siliceous deposit ? '

A) Breccia ' B) Gre-ywacke

C) Bauxte D) Conglomerate.

gige QurpLaelldr serallerer eusnTLLD apevd ST D -(g:smgn

A | aflev@rdlgmn ' B) @fCa g6 cusnerey

C)  psGaremt cusogub D) @eveu e,

Grain size of the particles can be graphically represented by

A) histogram - . B) cumulative curve

C) triangular diagram _- D) all of these.

Ij]Gt';TGU@lb FaDHOISHENET & et Sl Qerreirss :
L. & pCara surenrmallés Sifla '@soé,s,rﬂ &IRsGGeT 2 eerg.
. GuiGor sridleflugevedld sifls Hasafl symamns 2 drag
.  grGurah Qeriiseie ofs Hassf &UE’:!&!EI&G"I’.LG‘[GWQ;].
IV. QGuéaGaramleunamalée fle Hlesaf HTRERHGE 8 cleng.

Qloubpiet : _ _
A Tol®b sflurergy B) Tubpd I sflurersea
C) LI Ldgb@rcn M sflwrenensy D) Sevaggid sflurareney.

C;msidcr the following statements :
I. Most of the coal mines are located in lower Gondwana formation
II.  Most of the coal mines are located in Permocarboniferrous formation
III. Most of the coal mines are found in Damodar series
IV. Most of the coal mines are found in upper Gondwana.
Of these statéments : |
A) I alone is correct B) I and II are corTect

Q) I, II and III are correct D) all are correct.
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162. Fpsergd crbdluhsaer sesd :

smpgy (A) :

srireord (R) :

sofloas wppd Ced awnlemi gfleg poewpy uTeDEMTS
Siowhgsieng. '

aanCiameay wfme GLbs®mb Guéy saflvanaiheb Caauben

fHeourg. Jsame admGeond ghdéd oaupdrpsed pearamn

o efeng).

Fpsargmb @Ry sflurer alaL e Caip@s® :

A
B)
C)

D)

() wpgid (R GueoGidv afl, Cogind (R) edug (A) olihe sflurer efenssin

(A) whpd (R} @y s gf), Guoeubd (R} ereitugy (A) elpe sfluran allendawdoe

(A) s, syeréd (R) Seupy

(A) peup, seme (R) sl

Consider the following statements :

Assertion (A) : Clay and shale are good cap rocks for oil reservoir.

Reason (R) :

Clay and shale are impervious and retain oil in the reservoir.

Now select your answer according to the coding scheme given below :

" Al
B}
O

D)

Both (A} and (R} are true and (R) is the correct explanation of (A)

Both {A) and (R) are true, but (R} is not the correct explanation of (A)

{A) is true, but (R) is false

{A} is false, but (R) is true.

'163. psscdomcupper sflurs QuUIGSslLCL g oig ?

A)
B)
C)

D)

g &Ly
Sysedleyeur
pflwemrd

Q\ggliamcoinit

Sjevemb
- &fpe®
I gRen ST ebT

GRITH.

19000_'] ' { Turn over
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Which one of the following is correctly matched ?

A) Digboi —_ _ ‘Assam

B)  Ankleswar — Tamil Nadu
C) Nasimanam — Rajasthan
D) Jaisalmer — ~ Gujarat.

164. Spsacorcuppuer sflure QureSsiLLLg ag ? -

A  vegsTL — gmfiyih

B) G g Lime) — Lift remenol”.

C) Galf ' — | GuemL

D) Q@rusdgrd — @@lbqg,‘r@é,msﬁ.

‘Which one of the folldwing is correctly matched ?

A) Malanjkhand —_ Copper
B) -~ Mosabani — Bauxite
C) Khetri ' — Barite

D) Ingalthat . — Iron ores.

165. uCquéd Igp ulgué IX2 1 e _Qurr@ﬁé], S8 GaTRsaiL.Betar GHiRsanens
Qarmn® sfurer afle_ows CarpoOsd :

: uf.iq.mé: I ugwéd I

.a)  BlueyL 1.  emit ertuGer grg ( gmbliyb )

b) GLLlgengpl e 2. ermiut susoev® srg (smly )
o HeogCerGarder 3. yevongwes Qe srlly shaul
d) cg{arcu;gu 4. ofr e.eiw smbly HSGaL.
- &liPeer : |
a b c d
A1 2 3 )
B} 2 3 4 1
0 4 3 2 1
DD 3 a4 2 |

(16000
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* Match List I correctly with List II and seléct your answer using the codes given

-beiow:
Ca)
.

c)
4
C;Jdes:
a

A} 1
B 2
‘C)' 4
| D} 3

List I
Cuprite
Tetrahedrite
Chrysocolla
Azuﬁte

b c d
2 3 4
3 4 1
3 2 1
42 1.

List I1
1. .Carbonate copper ore
2. Copper oxide ore
3. Antimony rich cobper- sulpfude

4. Hydrous copper silicate.

166. :@[Bﬂu.nmﬁls'u BTG STEbhHe 2_seng, Seeusald Gruou grafamsds awgs :

A)

B

0

_D)

Hyreoul, sepbleflun, Cueng, smblyb

sTdlgh, Hyrennc, GuegL., yepdeflwid

fyremul, Gueny, smilgb, Syeidefiuid

GuenyL, dyresul, smblyn, Sepnfleiuib.

Following are given four ores. Arrange them in increasing order of total reserves

in India :

A
B)

C)

D)

~ Graphite, Aluminium, Barite, Copper

Copper, Graphite, Barite, Aluminium

Graphite, Barite, Copper, Aluminium

Barite, Graphite, Copper, Aluminium.

[ Turn over
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167. Guerrl giyliiesst G&l;orr& 2 LGuraLUED gleneiles g
A) gflaurea syerpgaTaln Glame g
B) olenrer guu sl (aﬁ.frsﬁ erdor ) Qe gt
C) é@‘;]&mrrsur geflaglit CarlL erihg aeor CaraiiLgl
D) scuenmy Guresp LeTueTy Q&ﬁsﬁm.gy
Barite is used as drilling mud becaus;e of its
A) high hardness | : B)  high specific gravity
" C)  high refractive index D) vitreous lustre..
168. feraupd anpnisee sauaidéd Qsres : |
L e Qomblele odlawre 2 dien wrhsals ST
. eosCombldear eret Qgrgdliie fen slng
. eeCGambidla g g(ﬁr;g')g)ugm_ whsaiay ysemen®

IV. oeCambdar Qe Bipb o sferg.

G@eubgyet - | |
4A) T @b sflurerg ' : B} Twpgud II sflurerema
C) I Iwpgid I sflurereney D) s@apgd sfluraiemal.

Consider the following statements :
I. Psilomelane is the abundant inanganesé ore mineral
II.  Psilomelane occurs in Sausar series
III. Psilomelane is hydrated oxide of manganese
IV. Psilomelane is brick red in colour.
Of these statements ; |
A) I alone is correct ' " B) I and II are correct

C) I, II and III are correct D} all are correct.

[1s64]
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169. Sgflaflub 2 Cansb edeor 2 Carsgos all. HflewnTs o ereng

Al =8 2 Carswrs oL Ludldeme

Bl @8 gtﬁ}qﬁlc&r Gwﬂ)u@ﬂuﬂéﬁ 8:07% spafapems QaTan@ereng
C) . &@ cusmenw SagWwg o

D} g 2 emw smigug.

Aluminium is considered to be the most abundant metal because
A)  itis not found in free state \

B) it constitutes 807% of the earth's crust

C). ttis malleable

D} it is brittle.

170. Qebeu@mid snhpisenen HeustipHler Gsreis :

L. @Qodby srgésd s puidfiy uleor Csr@sans
U SLULIL(NeTeng.

. dlyeu shgpbysems G mby rgsae Cedlsamiu Geterar
L @iy gz,rrg]é;aseﬁ Gl Perre Calléaliud. Gefreme

IV.  eeurQureng (aenTs @by STgsse 2 _drere.

@\eubpyefr :
Ay Twvl@b sflurarg B)  Iwpayd 11 eflurearenas
C} L IIwhgd HI sPurereney D) soasgnd sflurerceu.

Consider the following statements :
L Iron ores occﬁr as metamorphic banded deposits
II. .Iron ores occur as liqutd magmatic deposits
HI. Iron ores occur supefgene deposits |
v. ~ Iron ores occur as evaporite.

Of these statements :

A) I alone is correct B) I and Il are correct
C) 1. Il and III are correct. D) all are correct.
'

- Csllpm

[ Turn over



PGEO . . 64

171. JefGureCrmils geflau b Spsscon. abg saflvgde 2 crerg 1
A) enuGurenLL. B) - asn‘ﬁ’uq.@nﬂ'..
O (A wbgod (B) Greamen B) apiufeudes.
| Pleochroic halos are seen in

A) Biotite B) Cordierite

C)  both (A) and (B) D) Hypersthene.
172. e, saflo auomssdle ag deaabdb Qgeflcurer ( 001 ) Sereysenen
QT eteng '
A)  Quéduur sueme ' B) eougréfiet cuems
C) owsT s D) @\ euhmer GEQ]_Q{L&Q'}GU)GO.

Which of the following mineral groups has highly perfect ( 001 ) cleavage ?
A) Feldspar group B}  Pyroxene group
C) Mica group , D) None of these,.
173. Gplishlesr safingdlan guuL s o
A)  2:56 paev 2:67 cueny B) 3;83 Wwae 4-38 cuenyy
C) 352 upsé 4-25 cuenry D) 280 W& 3-00 cuany.
The specific gravity of Nepheline is . |
A)  2.56 to 2:67 _ B) 3-83to04-38
C) 3:52to04-25 | D) 2-80t03-00.-
174. gyedlalldr aafivgdld Géoars yligas perewselr
A fs a@]mmnm;r el B} uwelenorer eufiiiflerggeten
C) &iCGsLmear Lﬁ]ms.qg',ga'ﬂmm , | D) 2 @méeosey g,e&ef;»m.
Which of the following not an optical property of olivine ?
A)  Very high relief | B) Weak birefringence

C)  Presence of irregular fractures D)  Aleration.

o
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owar oL afell@hs surflsasiuddpg 7

A oiGarear B)
- C) @mm@&&muﬁ | D)
| Mica plate is made up of
. A) Muscovite B)
‘C] | Phlogopite . Dy

aruGuremL.

Gug@&.rrmam'_.

Blotite

Paragonite.

24,560 QsLT & [pé & BT auhpeir sr@mrr'a a_@mjrru;lé]g}iﬂ 7

A} smevageLL B)

C)  siueTen_et D)
a Alkali feldépars alter into

7 A) Saussurite B)

: C] Set':pentihe D)

177.

S0 safosder el aeaTug

A syerEsaTEOW . B)

C) Qmaﬂmqp LenUETULS SeTemD D)

' Lustre of a mineral is due to

A) hardness - B)

| C) surface reflectance . D)
178.- émg)_n)ur'rsiugs&r LG 10T &I GT\S]GF'UI‘_L'D

A o isCemgrods B)

C) Legdlefeafs | D}

‘Hypersthene crystallises in

'A)  orthorhombic B)

o ;C} triclinic | D)

(150}

&Quiredlelt

@y B gId.

Kaolin

all of these.

ST

@@Ulﬂg&ﬁeﬁr SesTenL.

density

occurrence.

BurQerrdleafeafs

Qeuppyetr ergapllcvanen.

monoclinic

none of these.,
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179. Spsaamieuprsh eflure QUTEHsTES &g 2

A dyemsl — KAl (8103) 2

B) Opdeler — KAISi 04

C) GerLear —_ . '3Na, Al, 51,0, . 2NaCl

D} Gmrélen, - 3Na, Al, Si,0y . Na SO, .
Which one of the following is not correctly matched ?

A)  Leucite — - KAI(sio 3] 2

B) Nepheline - : K-Ai 51,0,

C)  Sodalite —_ 3Na, Al Si ,Og . 2NaCl

D) Nosean — 3Na, Al , Si,04 .7 Na,SO,.

180. Ulesteumid smprysenen seouamigdle Qameis :
I gyddlaler gdgr CGuedld urenpulles 2 efreng
. gdaledr Qerusngenms 2 Horung
H.  syefeflafsr wp Quur QamrGevmanst
V. sdlalefean gflurer dereysmenen G\a,rrleu’un_g;.

@leudmel :
A Twl@o sflurers B) 1ibppd I eflurerane
C) I llwppe I sflureieneu D) emanhgid sfureranel.

Consider the following statements :
| L Olivine occurs in ultrabasic rock
II.  Olivine altered to serpentine
III. Olivine's another name is chrysolite
IV. Olivine has conchoidal fracture.
Of these statements ;
A) I alone is correct . B} I and I are correct

C) I, I and 111 are correct D)  all are correct.

|
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alpaddlé urhamen sefioh eps0 uTapilelmhe L@cunﬂu;eﬁengj ?

A) ofCurene B) dgrevenl

o0 gyevey. | D} eanfeanbeosl.

182.

in Tamll Nadg. bauxite is formed by residual concentration of
A!) amphibolite B) granite |

C] dunite ' D) charnockites.
Sesreumeuaraubpist 2wt Qeuliupgerenn Gdoerg sHaflob g 2

A) ﬂgno°osdiﬁi | : B) . Joemuwrt seflnesor
C] s D) wré&amensL..

, ,
Which among the following is not a refractory mineral ?

A) Graphite ' B) Fireclay

- ;C)  Garnet D) Magnesite.

183.

@idurale Ceueiemensd sefiwatsr, Qu@wearalles e &b wrHeld
A) Bl PpETE B) a&ferm_sm

,C) i ggeugresT D) @rﬂm}rr.

. The principal producer of Kaolin in India is

184.

A) 'Tamil Nadu - B) Karnataka

Ci) " Rajasthan ' - D} Orissa.
peTeL i Saiibb L GHarGD PeD

|A) | Cayev yeemLraflé 2. mUTHpLenL. eupre

Bj 5&@ura€larrraiutq.& 2 HTHOD

C) spghdears sdneumby urap, SHFCLL 2 BLTHDLEL CUFTEH

D) Guols UTEND UL 2 (HLMDHDD DL uSTE.

F 696] | 1904| [ Turn over
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Wollastonite is derived as a product of
A) plutonic metamorphism of shales
B) . cataclastic metamorphism '
C) contact metamorphism of impure limestone
D) regiqnal metamorphism of mafic rocks. |
185. granul, dlmm@cﬁmmﬂ)pjeﬁ srg surMsel uweTLR&ng
A) o Gaursdiseaen 2 ®B6GD viswd  B)  2wf ngufq Fgheh CurmL s
C) Quulierev - D) @ searbgib.
Graphite is used in the manufagture of
A) crucibles | B}  refractories
C) paints ‘ .D) all of these,
186. LDr;’é:GDTGU)&I'_Lq.dT ST HGeiteolle Hemey aigpid
A) 15 paev 2-4 cueny " B)  2:5 wpaov 3:4 eueriy
C}  3-5wse 4-5 euenry . D) 46 wse 54 eusnr.
The hardness of magnesite ranges from
A  15to24 - B) 25034
O 35t045 D) 46t054.
187. diyrseeul. sefind L@sulrr@b WpeoD,
A} detugd e morbpo ' B) sawhurep ugswrgb Gurg
C) Ol eBLTHPD D) @emeu e aIb. N
The mineral graphite is formed by -
A fegiona_l metamorphisrﬁ B} crystallisation from igneous rock

" C)  contact metamqrphism | D) allof these.
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188. £psorggub aursdubsaer e |

sapp (A): uroplle o der QEpTYLE Lededéd sry sflobes B{Oh )

sremiupdlatpen.

srgeord (R} Gmrpbg U@@&aﬂéf Sfls  seflodset o Gars Guousd

a}mmﬁ;@aﬁ‘mg}.
Epsarepnd Py sfura oL owu CHiHOBE :
A (A) vpgd (R Gyea®id sf, Gogib (R) adéug (A) olhe eflure aﬂends_m‘o
B) (A mrj)@fo (R} @Rl &), Cogub (R) eretug (A) allbg sflurer aflenésawde
C)  (A)eh yemes (R) gouny
D} (A samp geme (R) sl
éonsider the follpwing statemen'ts :

Assertion (A) : Shear zones are favourable for replacement and has given rise to

many ore deposits.
‘Reason (R) : Shear zonés have large speclﬂc surface. .
Now select your answer according to the coding scheme given below :
A] Both (A) and (R) are true and (R} is the correct explanation of (A}
B)  Both (A) and (R) are t;-ue, but (R) is not the corlrlec’:t explanation of (Aj
C)  (A)is true, bﬁt (R} is false

D) (Al is false, but (R} is true.

189. dpamaie HoLs@b LréaoiL GHbus STH s

Al 2L GEmed s B Jfey aens
C) Gedlaupn araoiu@n aems D) @ruppet agopdaene.
( Turn over
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The magnetite deposits of Kiruna, belong to
A}  injection type B} segregation
_C) dissemination D) none of these.
190. Quéwven_i urremr,s)s,aﬂé{ sramiupd Qur@eTery WéHubgeub 2 oL w saflind
A) Ghifléo B) G\Ql’nﬁﬂ)&isﬁ
C)  wrelligenen D) Elemeu SenenBHgin.
The chief economic minerals of pegmatites are
. A)  Beryl B) Gemstones
C)  Molybdenite D)  all of these.
191. Qeuenengdlenr urdiyser G goLlie Gsamme GepsasluL. b
A} ar@se oyflly B) g s Sremodse
C)  Qeushieny LTGLSemeT %mmgg,e'u D} GCz&ed Garb SenndsHe.
Flood hazards along a stream may be greatly reduced by the use of
A) deforestétion _ - B) channelization
C) flood plains ' D) retention ponds.‘
192. dpsaramid aurddluisaen e :
ampgp (A): yolder Cupuruler siflé o eher mamﬂt_.ﬁnun'_g yelluugilipe
SieHe 2 cren Flevpply &g:ﬁws:ﬁ:&aﬁda Spey s eEoILLEGD.
smyeond (R) . Hoppyllée 2 eten gfamer Hlabsy ggﬁ' sorsg QuigLOssdDg.
Spserambd GOl g sflurer eSen_eow Carp@s® :
A) (A} wibpid (R} @ais@n #fl, Quegyd (R) ereiiug (A) é&l;b@ sfluren ellen&ad
B) (A wbpd (R} @uetr®o &, Guogud (R) erssrug (A) oJihe sflurer allenéawde
C) (A sl gyemréy (R) gsupy | |
D) (A geup syemed (R} s,
|
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Consider the following statements :

Asserﬂort {4) : Subsidence is a 'common' hazard in abandoned near surface

underground coal mines.

Reason (R} : Ground water enlarges the underground cavities by solution

activity.
Now select your answer according to the coding scheme given below :
A)  Both (A) and (R) are true and (R) is the correct explanation of (A)
B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A)
C) - (A) 1s true, but (R} is faise
:A;D) {A) is false, but (R} is true,
193. Qausienseos s.GUUGES el LuTLEGSILL efen Dyni
| A} gnémrrg;r’r | B) evedledicnd
C)  &nGeaufl : D) &l%‘lst;m.
- Levees were used as flood control measure in
A)  Dameodar river B}  Mississippi .ri;rer
C)  Kaveri river ; D)  Ganga river.
194.I 2. wssdier geprasyeien BlauCuiu el -gihs srg Gk 2 erag)
A]' Aignrd, yer ' B) adedeustt, Ifi g sy Gameunwum
| - C) . grgevgre, @bdlwr D) Qa&ridy, Gevhans.

©  World's largest single Pb-Zn ore body occurs at

A) Bingham, Utah B} Sullivan, British Columbia
C) Rajasthan, India D) Colombo, Sri Lanka.
| | Turn over
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195.

196.

197.

St wewTer L Lig oyl UTeEm&etleh 2 srerg
A) Geverent setiomsen B) Ouadls saflnhigen
C) Gaerer QuGyreSiwb - D) ser Qu.Cyrellwbd.

Tar sands are sedimentary rocks that coritain

A) light minerals " B} felsic minerals-
C)  light petroleum D) heavy petroleum.

Qs 2 Carspams st srasbselLlliphs osumaan_ U LUSTURSS
V3@ serrd ) |

A ghsbd | B) Oauetel

C) gmbon D) ruwb.
Cyanide is commonly used to extract which of the following metals from its ore ?
A) Gold . B)  Silver

C) Copper ‘D) Lead.

'afg:éas,rr@m TS dhutisener Heued

apm (A): B Qadley weves ugdssia Hassfle ghuPauams oHsladng.

srgeed (R) : vanellé gpamgoer B ussd fsflaed Gury sG&G
' Quuisd se. odeflsdng

gpsaranid eiliigéd eflurar oo omu Carps® :

A) (A opoid ﬂ?)_@ljafcr@b gfl, Cugb (R) eretg) (A) alphe sflurer alerhab

B) (A wppid (R) @raa®i sf, Gugud (R) ereiug (A) edpe sflurer efletéswden
C) (A s, yamer (R) geuny

D) (A) sam, seme (R} efl.

[1904] ' ’ ‘19000
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Consider the following statements :

Assertion (A} : Water saturation increases the landslide susceptibility in

mountanous region.

Reason (R) : Increase in poi'e water pressure in soil increases the resistance,
to shearing stress.

Now select your answer accprding to the coding scheme given below :
A) Both"(fi) and (R} are true and (};\’) is the correct explanation of (A}
B) Both (A) and (R) are true, but (R) is not the correct explanation of (A}
C)' (A} is true, but (R} is false |

D) (A} is false, but (R} is true.

198. Jieétauph sapnsersn soicipdle Clames :
I we pare ugliLgurs Gophd Ceus semalle @EaHEID
II. m%cfm BT ey 2 epLest] a@@mg{ff@ g’fj)L:.i@I:D
M. et g,é;r‘rsq qﬁyu@mgﬁs‘u 39654 Sdle 2 it Gegb ghuBSHing
v, ersmm B&T 6 WettT HHTameuaiL Ceuswrs BHHESD.
@eubpet :
A) L oG I sflureree B) Iopmyod IV sfumetevay
C) V! WHTD 11 sfurarene D) 1w @b sflurerg.
Consider the following statementsl:
- L Soll creep takes place grédually at a slow pace
1. Soll ci-cep can be triggered by frost heaving
II. The loss of life due to-creep is often high
IV. Rock creep is more common than .SOil creep.
of thcse.statgments :
A} 1, Hand Il are correct B) 1and IV are correct
C) land Il are correct - | D 1 alone is correct.
' (19000 ] : [ Turn over
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199. 2 ssuwnen sTajsL aaUg CHrd soLOWSE GHIULG. Gi§ L Qumu‘%gfmﬁlﬁg
Crysdedimbg e 2_gewmer

A opugubd Blapam SLEb B) mlepasa|
C) Qeustengdletr Sir@ursHe D) seL.

Peak lag time is defined as the time lag between a precipitation event and the

peak
A} recurrernce: B) probability
C) flood discharge D) lag.

200. fasaflou aflgs Basrgd surflagd @Guusellehy Caalauph Haab

BT &URSSID eumy) ?

A} SO, B) NO,
C) CO, | | D) CO.
The most polluting emission from coal-fired electricity gt:-:neratmg stations is
A) S0, . B) NO,

c co, D) CO.
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Register
Number

2010
GEOLOGY

Time Allowed 3 Hours | ' [ Maximum Marks : 300

Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

1. This Booklet has a cover { this page )} which should niot be opened till the Invigilator gives signal to
open it at the commencement of the examination. As soon as the signal is recetved you should tear
the right side of the booklet cover carefully to open the booklet, Then proceed to answer the

" questions.

2. This Question Booklet contains 200 questions.

3. Answer all questions, All questions carry equal marks,

You must write your Register Number in the space provided on the top right side of this page. Do
not write anything else on the Question Beoklet.

5. -An Answer Sheet will be supplied to you separately by the Invigilator t0 mark the answers. You
must write your Name, Register No. and other particulars on side 1 of the Answer Sheet provided,
failing which your Answer Sheet will not be evaluated. .

6. You will also encode your Register Number, Subject Code etc., with Biue or Biack ink Ball point pen
in the space provided on the side 2 of the Answer Sheet. If yo{i' do nof encode properly or fail to
encode the above information, your Answer Sheet will not be evaluated.

7. Each question comprises four responses {A), {B}. (C) and {D). You are to select ONLY ONE correct
response and mark {n your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response
for each question. Your total marks will depend on the number of correct responses marked by you
in the Answer Sheet. :

8. In the Answer Sheet there are four brackets [ Al B} C ] and [ D ) against each question. To
answer the questions you are to mark with Ball point pen ONLY ONE bracket of your choice for
each question. Select one response for each question in the Question Booklet and mark in the
Answer Sheet. If you mark more than one answer for one question. the answer will be treated as
wrong. e.g. If for any item, (B) is the correct answer, you have to mark as follows :

(A1l (CI[D]

9. You should not remove or tear off any sheet from this Question Booklet, You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
After the examination is concluded, you must hand over your Answer Sheet to the Invigilator. You
are allowed to take the Question Booklet with you onlty after the Examination is over.

10.  Failure to compily with any of the above instructions will render you Hable to such action or penalty
as the Commission may decide at their discretion. -

11, In all matters and in cases of doubt, the English Version is final.

12. Do not tick-mark or mark the answers in the Question Booklet.
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